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Figure 1.4 The production possibility curve (PPC) of Tullassa

Increases in the productive capacity of a country

There has been advancement in technology in Tullassa, which means that yields

of olive oil and the productivity of furniture makers have increased. In Figure 1.5,
the PPC shifts outwards, from PPC, and PPC;, and represents an increase in the
productive capacity of Tullassa. With the same amount of factors of production, more
can be produced.
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Figure 1.5 An outward shift of the PPC

Decrease in productive capacity of a country

A powerful storm hits Tullassa and destroys a large percentage of the facrories and
buildings. Much of the olive crop is destroyed and transport links are interrupted.
In Figure 1.6, the PPC shifts inwards from PPC, ro PPC, and represents a decrease
in the productive capacity of Tullassa.





































Demand and supply

™ ing of demand

ers o both the willingress and the abilizy of customers o pay a given

. _ a good or service. This is somerimes referred to as effective demand ro

distinguish genuine demand from a want or a desire o buy something, The amount

of a good or service demanded ar each price level is called the quantity demanded.
In general, the quantity demanded falls as price rises, whilst the quantity

demanded rises at lower prices. Therefore, there is an inverse relationship between the

price of a good or service and the demand. This rule is known as the law ot demand.

There are two reasons for this relationship:

5 the price of a good or service falls, the cusromer’s ‘real” income rises {i.e. with
«u€ same amount of income, the customer is able to buy more products ar lower

ices).

s the price of a good or service falls, more customers are able ro pay, so they are
re likely ro buy the product.

Demand curves

Diagrammatically, the demand curve is shown as a downward-sloping curve to show
the inverse relationship berween price and quantity demanded (sce Figure 3.1).
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yricultural products in a short time period.
Zeather — The supply of certain goods and services can also depend on the
earher. Agricultural output will clearly depend on whether suppliers have
or weather conditi Similarly, some service providers
may also limit or close their operations during adverse weather conditions, thereby
shifting the supply curve ro the left.

Movements and shifts in supply
Movements in supply

A change in the price of a good o service causes a movement along the supply
curve. A price rise will cause an increase (expansion) in the quantity supplied of a
product, while a price fall will cause a decrease (contraction) in the quantity supplied
(e Figure 3.7).

Afal n price from Py o 7

causes the quaniy supplid fo

contract from @ fo G, whereas @

price rise from P, fo P; causes.

the quarty supplied 19 expand
oGy

Price ()

o g
Guantiy supplied

Figure 37 Movements along the supply curve












If price is set oo high (above the marker-clearing price), then supply will exc

as shown in Figure 3.12. This results in surplus production known

0 order for firms ro get rid of their excess supply (shown by the dist

©, and Q,), they will need to reduce price (from P, to P,). This is a key
reason why lefiover stocks of Christmas cards are reduced in price after 25 December
and why unsold summer clothes go on sale during the autumn.
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Figure 3.12  Excess supply (surplus)

By contrast, if the selling price ofa product is set too low (i.e. below the equilibrium

price), the ¢ 1e supply. This creates a shortage in the market,
caused by t 2¢ Figure 3.13). Ar a price of P;, the demand is Q;
while suppl, nd exceeds supply. The excess demand causes prices

to rise back ro the equilibrium price of P..

When Apple launched its iPhone 5 in Hong Kong in late 2012, demand
outstripped supply so much that the price of the smartphone increased from
HK$5588 to almost HK$8000 — an increase of 43 per cent!

Ashoriage occurs
vehen demond exceeds
supply becase te
price Is lowar han the
market squilbrium

Price ($)

Guantiy fraded

Figure 313 Excess demand (shortage)


















Interpreting PED calculations

So whar does a PED value of —0.5 acrually mean? The cinema ticket example suggests
that the demand for cinema tickets is price inelastic (i.e. relatively unresponsive ro
changes in price). This is because a 10 per cent increase in the price (from $10 to $11)
only caused quantity demanded to drop by 5 per cent (from 3500 tickets per week

o 3325).

The value of PED is negative due to the law of demand —an increase in the
price of a product will tend to reduce its quantity demanded {see Chapter 3). The
inverse relarionship betseen price and quantity demanded also applies in the case
of a price reduction — that is, a price fall tends to lead o an increase in the quantity
demanded.

The calculation of PED generally has two possible outcomes:

the PED for a product is less than 1 (ignoring the minus sign), then demand
price inelastic (i.e. demand is relatively unresponsive o changes in price).
This is because the percentage change in quantiry demanded is smaller than the
:rcentage change in the price (see Figure 4.1).
the PED for a product is greater than 1 (ignoring the minus sign), then demand
price elastic (i.e. demand is relatively responsive to changes in price). This is
because the percentage change in quantity demanded is larger than the percentage
change in the price of the product (see Figure 4.2).
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Figure 4.1 The price inelastic demand curve
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Figure 4.2 The price elastic demand curve



However, there are three special cases which are theorerical possibilities:

“the PED for a product is equal ro 0, then demand is perfectly price inelastic:
.aat is, a change in price has no impact on the quantity demanded. This suggests
that there is absolutely no substitute for such a product, so suppliers can charge

hatever price they like (sce Figure 4.3).

the PED for a product is equal ro infinity () then demand is perfectly price
_.astic: that is, a change in price leads to zero quantity demanded. This suggests
that cusromers switch ro buying other substitute products if suppliers raise their

s equal 1o 1 (ignoring the minus sign), then demand has
1at is, the percentage change in the quantity demanded
«ge in the price (see Figure 4.5).
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Figure 4.3 The perfectly price inelastic demand curve
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Figure 44 The perfectly price elastic demand curve
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travelling during peak time. This is partly due to overcrowding problems during
such times, but also because the transport operarors know thar peak-time travel is
1ore of a necessity than off-peak travel.
[abits, addictions, fashion and tastes — If a product is habit forming (such as
sbacco) or highly fashionable (such as smartphones in many countries}, its PED
tends to be relatively price inelastic. Similarly, people who are extremely devoted to
a particular hobby, such as sports or music, are more willing ro pay, even at higher
ices. Hence, the demand from these people is less sensitive to changes in price
dvertising and brand loyalty — Marketing can have a huge impact on the buying
__bits of customers. Effective advertising campaigns for certain products not only
help ro shift the demand curve outwards to the right, but can also reduce the
price elasticity of demand for the product. Customers who are loyal to particular
brands are less sensitive ro a change in their prices, partly because these brands are
demanded out of habit and personal preference — that is, they are the default choice
over rival brands. Examples of brands with a loyal customer following include
oca-Cola, Apple, Samsung, Chanel, Toyota and Mercedes-Benz.

ime — The period of time under consideration can affect the value of PED
_ zcause people need time to change their habits and behavioural norms. Over
time, they can adjust their demand in response to more permanent price changes
by seeking out alternative products. For example, parents with children in privare
fee-paying schools are unlikely to withdraw their children from school if these
establishments raise school fees because this would be very disruptive to their
children’s learning, Similarly, owners of private motor vehicles are not likely to
get rid of their vehicles simply because of higher fuel prices. However, if there is
a continual hike in prices over time, both parents and vehicle owners may seek

ternatives. Hence, demand tends to be more price elastic in the long run.

urability — Some products, such as fresh milk, are perishable (do not last very
ng) and need to be replaced, so will continue o be bought even if prices rise.

By contrast, if the price of consumer durable products {such as household furniture,
LCD televisions or motor vehicles) increases, then households may decide ro postpone
replacing these irems due ro the high prices involved in such purchases. Therefore, the

tore durable a producr is, the more price elastic its dernand tends o be.

he costs of switching — There may be costs involved for customers who wish

» switch berween brands or products. Tn the case of high switching costs, the
2mand for the product is less sensitive o changes in price — that is, it tends to be
rice inelastic.

For example, manufacturers of smartphones, laprops and digital cameras

rake it more difficult for their customers to switch berween rival brands by
\pplying different power chargers, memory cards and software. Similarly,
wobile phone users and satellite television subscribers are bound by lengthy
antracts, which makes switching berween rival brands or services less easy.
uch barriers o switching therefore make customers less responsive to higher
roduct prices.

he breadth of definition of the product — Ifa good or service is very broadly
2fined (such as “food rather than fruit, meat, apples or salmon), then demand
ill be more price inelastic. For example, there is clearly no real substiture for
»od or housing, so demand for these products will be very price inelastic.
lowever, it is perhaps more useful to measure the price elasticity of demand for
secitic brands or products, such as carbonated soft drinks, Australian beef and
5CSE textbooks.







A quick calculation of PED reveals that the demand for Lenovo laptops is price elastic:

5500 5000
entage change in quantity demanded = 2>~ % 100 = +10%
rcenrage change in price = 320~ 5700 1557 14

$700
us, PED = 1.4

L'his means the PED for Lenovo laptops is price elastic. Hence a fall in price causes a

relatively larger increase in the quantity demanded, so sales revenues should increase.

This can be checked as follows:

original sales revenue = $700 % 5000 = $3500000
new sales revenue = $650 x 5500 = $3575 000
difference in sales revenue = $3.575m — $3.5m = +75000

Given thar demand for Lenovo laptops in the above example is price elastic, a reduction
in price was a sensible business decision. Therefore, it can be seen that knowledge of PED
for a product can inform firms about their pricing strategy in order to maximise sales
revenues. These relationships are summarised in Table 4.1 and and Figures 4.6 and 4.7.
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Figure 4.6 Price inelastic demand and sales revenue
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Figure 4.7 Price elastic demand and sales revenue






Whar this means is that the supply of beans is hardly affected by the change in price -
supply is relaively price inelastic. Note that the value of PES is positive due o the law of
supply — that is, an increase in price rends to increase the quantity supplied (and vice versa).
The value of PES reveals the degree to which the quantity supplied of a product
ds to changes in price. The calculation of PES generally has ewo possible ourcomes:
PES > 1.0 supply is price elastic, i.e. supply is responsive to changes in price
\uie percentage change in quantity supplied is greater than the percentage change
price — sce Figure 4.8).
PES < 1.0 supply is price inelastic, i.e. quantity supplied is relarively
__iresponsive to changes in price (percentage change in quantity supplied is less
than the percentage change in price — see Figure 4.9).
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Figure 48 The price elastic supply curve
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Figure 4.9 The price inelastic supply curve

TT-rever, there are three special cases which are theoretical possibilities for PES:

the PES of a product is equal to 0, then supply is perfectly price nelastic: that

,a change in price has no impact on the quantity supplied. This suggests thar
there is absolutely no spare capacity for suppliers ro raise output, irrespective of

«creases in price (see Figure 4.10).

“the PES of a product is equal to infinity (=) then supply is perfectly price

astic: that is, the quantiry supplied can change without any corresponding
change in price. For example, a software developer selling products online can very
easily increase supply to match higher levels of demand, without any impact on the
price level. Due to the spare capacity that exists, suppliers are able to raise output at
the current price level (see Figure 4.11).
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December 2009 for the iPhone. Since then, over 12 million customers have paid $0.9%
each to download the game from Apple’s App Store. The game has become avaitable
for other platforms such as the Android and Windows operating systems and available
for both video games consoles and personal computers.

Rovio has since launched variations of the video game, such as Angry Birds Seasons,
Angry Birds Rio, Angry Birds Space and Angry Birds Star Wars. According to its
website the Angry Btrds games have been downloaded over 1 biffion times across all

Lererminants of price elasticity of supply
There are several interlinked deterininants of the PES for a product:

he degree of spare productive capacity — Ifa firm has plenty of spare capacity
__en it can increase supply with relative ease: that is, without increasing its costs
of production. This means that supply is relatively price elastic. For example,
Coca-Cola’s bortling plants can produce 10000 cans of soft drink in just 60
seconds, so it is very easy for the world’s largest beverage company with plenty of
spare productive capacity to respond to changes in price. In general, the supply
of goods and services is highly price elastic during an economic recession (see
Chapter 20} when there are spare (unused) resources such as land, capital and

bour.
he level of stocks — If a firr ', componenrs and finished
roducts (collectively known hat are available for use,

then the firm is more able to e in price, as it can supply

these stocks on (o the marker. Not all inventoies are sold to constmers — raw
materials and components (parts used in the production process, such as gearboxes
and motors for cars) are used in the production process. In addition, some types of
stock (such as pencils or ball bearings) are easier to store than others (such as fresh
milk or organic vegerables), so it will be easier to increase supply if prices increase.
This means that the higher the level of stocks of finished goods (such as cars) thar

e ready for sale, the more price elastic supply tends to be.

he number of praducers in the industry — The more suppliers of a product
__ere are in the industry, the easier it tends to be for firms o increase their
output in response to a price increase. For example, there is plenty of competition
in the restaurant trade, so suppliers will be highly responsive to increases in price.
Hence, the greater the number of firms in an industry, the more price elastic
supply rends ro be. By contrast, high barriers to entry in the pharmaceurical
inclustry mean that there are very few suppliers in the industry, so supply tends to
be price inelastic.
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they employ. For example, in agricultural farming, the supply of fresh fruit and

vegetables is dependent on the time it takes ro harvest the products and climatic

conditions beyond the control of the suppliers. Hence, supply is less responsive 1o

changes in price in the short run. Supply is more likely to be price elastic in the

long run because firms can adjust their levels of production according to price
1anges in the market.

e ease and cost of factor substitution — This refers to the extent to which it is
 ossible to introduce factor resources such as labour and capital) to the production
process. If capital and labour resources are occupationally mobile, this means
they can be substitured inro the production process easily. An example of capiral
being occupationally mobile is a publishing company that can swirch production
quite easily berween printing textbooks, magazines, trade journals, calendars or
greetings cards. This means the ease of factor substitution in the publishing firm
makes supply highly price elastic. By contrast, the PES for a product where capital
equipment and labour cannot easily be switched, as the production process is
inflexible, will be very low: that is, supply is price inelastic.

The value of PES to firms

In general, it is preferable for firms ro have a high PES — o be highly responsive

to changes in price (and other market conditions). This can help to make the firm

more competitive and therefore ro generate more sales revenue and profits. Firms can
ime more responsive to changes in market price in several ways, including:

eating spare capacity
«eping large volumes of stocks (inventories)
Jproving storage systems to prolong the shelf life of products
lopting or upgrading to the latest technology
proving distribution systems (how the products get to the cusromers)
weloping and training employees to improve labour occupational mobility (to
, 2rform a range of jobs).
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Market failure

zcurs when the p or service
positive or negati 1a third parry
not involved in the economic activ of demand

and supply fail fo allocate resources efficiently.
*farket failure may be caused by the Following:

roduction of goods or services which cause negative side-effects on a third party.
or example, the production of oil or the construction of offices may cause damage
 the environment and a loss of green space.

“oduction of goods or services which cause a positive spillover effect on a third
rty. An example is training programmes, such as first-aid or coaching skills for
1ployees, which create benefies that can be enjoyed by others.

>nsumption of goods or ser sgative spillover effect on a third
. rty. Such goods are known d include cigarettes, alcohol,
imbling and driving a car.
onsumption of goods or ser asirive spillover effect on a third
irty. Such goods are known nelude education, health care

1d vaccinations.

\ilure of the private sector ro provide goods and services such as streer lighting,
ad signs and national defence due to a lack of a profir motive. Such goods and
'rvices are known as public goods (see Chapter 13).

he existence of a firm in a monopoly market (see Chapter 13) that charges prices
hich are too high and exploits customers.

Privata and encig| costs

T] “production and consumption are the actual costs of a firm,
ment. For example, the drive 2 insurance,

road tax, petrol and cost of purchasing the car. T e the negarive

side-effects of production or consumption incurs or which no

compensation s paid. For example, a car driver does nor pay for the cost of the
congestion and air pollution created when driving the car. This is an example of
market failure because the private costs {of driving) do not repr osts
{of driving) to sociery. The true cost of a car journey is called ©

Social costs = private costs + external costs









The advantages of imposing rules and regulations ro correct marker failures are as
ol lows:

onsumption of the good or service may be reduced.
wvareness of the negative impacrs of demerir goods (such as drinking and driving)
ay change the behaviour of people in the long term.
wareness of the positive impacts of consumption of merit goods (such as

. Jucarion} is raised.

The disadvanrages of imposing rules and regulaions to correct market failures are as

astrictions cause underground (illegal) markets to develop where the good or
rvice can be purchased, often at a very high price.

e government has no control over the quality of the goods produced in

werground markets, which in some cases can be dangerous for consumption, as

ich illegally distilled vodka and tainred baby milk powder.

‘ople break the rules: for example, under-age smokers and drinkers of alcohol
_<n bypass the law by obtaining false identification cards. In the case of smoking,
people may choose ro smoke outside buildings and therefore inflict second-hand

10ke on people entering and leaving the building.

he fine or punishment for ignoring the ban must be enforced and set sufFiciently
...gh to discourage consumprinn of the ennd ar servics

A third approach to correcting

market failures is ro use

education and advertising.

Many schools educate student:

about the negative side-effects

of smoking and passive

smoking, In many countries,

cigarette packets must carry a

government health warning

that clearly exphins the

dangers of smoking. The

Australian government has

made it a legal requirement for

cigarettes to be sold in packets  vigarciics nimusuana ais suii i uSHILa L VISR
covered in negative images packets with the same typeface and covered with
about smoking, The images graphic images and health warnings. In the UK, a ban

oE on tobacco products being displayed in shops came
are graphic, aiming to educate 40 effect in 2012

and shock people in order to
discourage them from smoking. If such methods are successful, the raised awareness
of the dangers of smoking should reduce the demand for cigarettes or any other
demerit good), as shown in Figure 5.2.

Anorher example is the government using informative advertising and education
o explain to people the benefits of eating at least five portions of fruit and
vegerables each day. In Figure 5.3, the demand for fresh fruir and vegerables
increases from D, to D, and the quantity demanded increases from @ to Q,.
Healthier people in an economy should mean less absence from work and school,
with fewer people using health services. Therefore healthy eating produces an
external benefit for society.















There is a conflict between the provision of goods and services directly o people
and asking them to pay for the goods and services. The law of demand (see Chapter
3) dictates that, as the price of a good or service rises, less of it will be consumed.
Health care and education are under-consumed in some countties because people
cannor afford to pay. In the short term this has a negative effect directly on the
quality of their lives, and in the long term it causes a potential decrease in life
expectancy and earnings potential (see Chapter 7). This impacts upon the whole
of society because it means that human resources are not being used to their full
capacity

The advantages of government provision of goods and services are that:

2 goods and services are accessible to all people, regardless of their income or
“ial status
nsumption of the goods and services has privare benefits to the individual and
_.ernal benefits enjoyed by third parties in society.

The disadvantages of government provision of goods and services are that:

lere is an opportunity cost, as the money could have been spent on something
se, such as paying off government debt or possibly lowering the rate of

xation

>ods and services that are free of charge may be over-consumed, so long queues

- shortages may arise (for example, the waiting list for a hip replcement operation
a government hospital may be very long)

the case of a shortage of supply due to excess demand, it can be difficult to

cide who should be ‘anrage of the free government service
Te people (known re able to take advantage of free goods and
‘vices withour cont .. .. rnmentrevenue through paving taxes.

in health education and health care programmes to economies across the world,





















tantral banks tend to have the tollowing tour key tunctions:

he sole issuer of banknotes and coins — In almost every country, the central
- ank has the sole right to issue legal tender in its own country: in other words, it
is the only authority that can print banknotes and mint coins. This helps to bring
uniformity to, and improves public confidence in, the country’s monetary system.

One rare exception to this function is in Hong Kong where three commercial
banks (Standard Chartered, HSBC and Bank of China) have note-issuing rights,
although the Hong Kong Monetary Authority maintains overall control of the

wuntry’s banking sysrem, including the circulation of banknotes and coins.

he government’s bank — The central bank operates as a banker to the
_overnment, performing the same functions as a commercial bank does for irs
customers. Hence, as the government’s bank, it maintains the bank accounts of
the cenrral government, such as receiving deposits from government, making
short-term loans to the government and making payments for items of government
expenditure (see Chapter 16). The central bank also manages public-sector debt
and represents the government in the inrernational financial markets, such as
foreign exchange. This has become an imporrant function of central banks because
such intervention can help to stabilise the external value of a nation’s currency (see

hapter 24).

he bankers’ bank — The central bank acts as the bank for other banks in the
~ountry. This function includes overseeing the cash reserves of commercial banks.
This means that all banks in the country must have their accounts with the central
bank, enabling the central bank easily fo manage the claims made by banks against
each other. For example, payment made by a Ciribank cusromer writing a cheque
to ancther customer with an HSBC account goes through the central bank’s
clearing system — the central bank debits the account of the Citibank customer
and credits the account of the HSBC customer. This cheque clearing function of
the central bank reduces the need for cash withdrawals, thus enabling commercial
banks to function more efficiently. In addition, it also allows the central bank to
have a better overview of the liquidity position {the ability to convert assets into

sh) of the country’s commercial banks.

he lender of last resort — Given that the authorities require all commercial
_ inks to keep a certain percenrage of their cash balances as deposits wirh the
central bank, these cash reserves can be used by the country’s banking system
during financial emergencies. This funcrion helps to build public confidence in
the country’s banking system. For example, if a certain commercial bank faces
temporary financial difficulties, it can, as a last resort, seek financial assistance
from the central bank. This helps to ensure the bank does nor collapse, protects
jobs and thus safeguards the nation’s banking system and economic welfare.















year). Time deposits tend to attract higher rates of interest for deposit holders
than sight deposits. Businesses deposit their cash in commercial banks for the
convenience of their own financial operations, such as paying their suppliers and

nployees.

Taking advances — Commercial banks provide advances (loans) to their
- asomers. These advances include overdrafts (a banking service that allows
registered customers to withdraw more money than they actually have in their
account) and mortgages (long-term secured loans for the purchase of assets such as

ymmercial and residential property).

redit creation — This describes the process by which banks increase the supply
*money in an economy by naking money available to borrowers. Credi allows
the borrower or debror) o gain purchasing power (money) now with the promise
to pay the lender (or creditor) at a future time. Credit creation enables commercial
banks to generare considerable additional purchasing power from their cash
deposits. While central banks can print money, they do not create credit; this is a
key function that distinguishes commercial banks froin other tinancial institutions,
such as insurance companies and investment banks.

The secondary functions {or general utiliry functions) of commercial banks include:

llecting and clearing cheques on behalf of their clients

fering additional financial services, such as rax advice, forelgn exchangg dealings

d the buying and selling of shares

oviding safety deposit boxes for customers to safeguard highly valued

ssessions, including items of jewellery and important docuinents such as wills

oviding money transfer facilities, such as transferring money to an overseas

nk account or paying various bills, such as relephone, electricity, gas and

ater bills

oviding credit card facilities for the convenience of customers — both private

dividuals and commercial clients

oviding internet banking facilities, such as online bill payments, online bank
_ansfers between bank accounts and the online purchase of shares and foreign
currencies.

Lreais caras anow customers 10 puy now and pay later,
50 are widely used as a medium of exchange






























Availability and level of welfare benefits

‘Welfare benefits are paid to the unemployed. However, if welfare benefits are

high and readily avaikable, this can discourage people from seeking work because

the opportunity cost of not working and receiving welfare payments is too high.
Governments try to regulate who can receive benefits to prevent disincentives to
work. For example, in the UK a person must prove tha they are actively seeking work
if they are ro continue to receive welfure payments.

Changing social climate

In many countries, more women are entering the workforce and delaying having
families while more men are looking after the home and children. As a result of
falling birth rates, some countries have ageing populations see Chapter 22). These
factors affect the composition of the workforce. Such countries may have to rely on
immigration to ensure that they have workers with the required skills in the future.

fers ro the willingness and ability of a person to
country to another for work. Some people may not be
~ennraphically mobile for the following reasons:

1mily commitments — People may not want to relocate as they want ro be near
«.seir family and friends. There may be other commitments such as schoolin
arrangements for children (it can be highly disruptive to the education of children

ho have to move to a school in a different town or country,

osts of living may vary between regions — If costs of living are t0o high in
- another location, it may be uneconomical for a person to relocate there. For
example, a bus driver may find it impossible ro relocate from the countryside to
the city because house prices are much higher in the city and therefore they would
not be able to purchase a home. By contrast, a banker may be offered a relocation
allowance to move to anorher city and his or her potential earnings are much
higher, so the banker has greater geographical mobility than the bus driver.

e s o a8 1 1 g 1
s. For example:
here is a global shortage of doctors and nurses.
elgium and the UK have a shortage of chefs.
lordic countries have a shortage of psychologists.
w1 <013 there were 200 million international migrants, inctuding nurses trained in
the Philippines, who were prepared to relocate to take advantage of employment
opportunities.

g T et s

Source: BBC News






























Article 23 of the United Nations Universal Declaration of Human Rights supports
trade unions and decrees that all people should work in a safe environment for a fair
amount of pay. It states the following:

Everyone has the right to work, to free choice of employment, to just (fair) and
favourable conditions of work and to protection against unemployment.
Everyone, without any discrimination, has the right to equal pay for equal work.
Everyone who works has the right to just and favourable remuneration (pay
and benefits), ensuring for himself and his family an existence worthy of human
dignity.

Everyone has the right to form and to join trade unions for the protection of his
interests.

W

IS

According to the declaration, membership of trade unions is therefore a basic

human right and individuals should have freedom of association — they cannot

be discriminated against for being a member of a trade union. However, firms
{employers) are not obliged to recognise and negotiate with trade unions. Instead,
they can set their own terms and conditions and rates of pay. In some countries, such
as the United Arab Emirates, the law does nor allow trade unions ro exist.

Types of rade union
Trade unions can be classified as follows:

raft unions — These are the oldest type of labour unions, which were originally
__rmed to organise workers according to their paricular skill. For example,
engineers and printers formed their own unions, as did carpenters, plasterers
and electricians. Craft unions try to restrict membership to only those with the

articular skills.

adustrial unions — These trade unions represent all workers in their industry,

respective of their skills or the type of work done. An oil workers’ labour union
would include workers involved in exploration, extraction, storage, refining and
any other jobs associated with the oil industry. The United Auto Workers Union of

e United States (UAW) is an example of an industrial union.

eneral unions — These trade unions are usually prepared ro accepr anyone into

embership regardless of the place they work, the nature of their work or their
industrial qualifications. These labour unions have a very large membership of
unskilled workers. The Transport and General Workers” Union (TGWU) is a
very karge general union in the United Kingdom. Tts members include drivers,
warehouse workers, hotel employees and shop workers. In Australia the largest

:neral union is called the Australian Workers” Union.

Vhite collar’ unions — These labour unions recruit protessional, ad ministrative

1d clerical staff {salaried workers) and other non-manual workers. They are
common in teaching, banking, the civil service and local government.

Some professions, such as law, accountancy, engineering and medicine, do not have
trade unions because their work is governed by a professional body which sets entry
requirements in terms of examinations, training and level of experience. The entry
requirements are high and therefore the number of workers in each profession is
controlled.



The role of trade unions

The primary role of a trade union is to protect the interests of its members. Examples
~Flsbour union roles and responsibilities include:

irgaining with employers for pay rises and better terms and conditions
ssuring thar equipment at work is safe to use (supported by health and safery
gislation) and thar workers are given sufficient raining to enable them to perform
eir role at work safely
isuring members are given legal advice when necessary
ving support to members when they are made redundant
oviding financial and legal support to workers who may have been unfairly
smissed or disciplined
srsuading the government o pass legislation in favour of workers, such as laws
wering minimum wages, maximum working hours, pension rights and the
retirement age.

Trade unions act as a means of comi etween employers
and employees through a process call his occurs when a
trade union representative, who is vot :agues, negoriates

on behalf of the union’s members {the workers) with the employer for better pay and
working conditions. A collective voice is more powerful than each worker negotiating
individually with the employer. Trade unions can therefore be an effective means of
communication between the employer and employees.

Trade unions with high membership tend to be more powerful than unions
with a small number of members. If trade unions make full use of their bargaining
strength, they could succeed in getting larger and for more frequent wage increases
than the weaker unions. This highlights the importance of ‘unionisation’ to trade
unions: the larger and more united the union, the better its bargaining position
tends o be.

Unions may be affiliared ro a larger organisation which negotiates with the
government: for example, the Trade Union Congress (TUC) in the United
Kingdom and the American Federation of Labor and Congress of Industrial
Organisations in the USA. These organisations push for legal protection of rights
for workers, such as the imposition of a national minimum wage or an increase in
its level (see Chapter 7).

The basis for wage claims
Trade unions normally base claims for higher wages on one or more of the
fllowing:
rise in the cost of living due to inflation (see Chapter 18) has reduced the real
come of trade union members.
‘orkers in comparable occupations have received a wage increase.
he increased profits in the industry justify a higher return o labour.
he productivity of labour has increased, again possibly justifying an increase
wages.












In response to falling membership in some countries, unions have tried to improve
their image by making their services more appealing and relevant to today’s world.
For example, the Association of Teachers and Lecturers (ATL) in the United
Kingdom has a “no strike’ policy to which all members agree. Many unions now offer
their members financial services such as loans, mortgages, insurance, credit cards,
discount holiday vouchers and discount car hire as incentives to join. Some trade
unions also provide grants for college courses or arrange retraining programmes {fo
develop new skills) for their members who have been made redundant.
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Figure 8.2 Trade union membership in China and the UK, 2000-10
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Figure 9.1 What Americans spend their money on {(2012)

Figure 9.1 shows the proportion of income spent by low- and high-income
households on food eaten at home in the USA (10.2 per cent and 5.4 per cent
respectively). A low-income household spends 54.1 per cent of its income on
necessities (food, housing, utilities, clorhing and shoes) and only 2.6 per cent on
savings for retirement. By contrast, a high-income earner is able to save 15.9 per cent
of their salary and spend 4.4 per cent on education. Remember that 15.9 per cent of a
$150000 income is much grearer than 2.6 per cent of a $19 000 income!

Figures 9.2-9.5 show the recent trends in real household disposable income and
consumer spending in the United States, Japan and the United Kingdom.

3
2

Source: adapted from GECD Factbook 2013

Figure 9.2 Real household disposable income in the USA, UK, Japan and the Eurozone,
2008-11 (% annual growth rates}



























only in the individual rerail outlet. Firms offer discounts and free gifts as an
incentive for people to sign up for a srore card. Cusromers can also accumulate
loyalty points on the card, which can be used in the furure to purchase goods and
services in the store. Store cards can give people an incentive to overspend and can
raise their level of debt. If debts are cleared when payment is requested, no interest
is charged — but just as in the case of credit cards, if repayments are not made then

terest is charged on the outstanding debt.

‘ealth — The wealth of a person may affecr their level of borrowing, as a bank
.ill be more willing o lend money to wealthier individuals or highly profitable
firms. This is because they have valuable assets and so are more likely to repay the
loan, whereas less wealthy cusromers have a higl Iting on the loan
{being unable to repay their borrowing). To avo ebts that cannot
be repaid), banks often make sure that they have . e of getting their
money back. is may own several stores or have valuable assets that
can be taken ecuriry) for a loan. In the case of a mortgage, the
property pur: i security for the loan and if the borrower defaults on
the loan, the bank will take ownership of the property.

in the world. in 2012, disposable income rose by 5.8 per cent and debt rose by an
average of 1.7 per cent. This lowered the debt-to-disposable income ratio to 152.3 per
cent from 158.5 per cent.

The reasons for the high levels of debt are, firstly, that in the early 2000s the

South Korean government lent money to small firms to encourage their growth

and development and, secondly, because there was a housing boom in 2011. The
acceleration in house pn(es provided an incentive for people to increase borrowing to

buy propert- - -+ "=~ *hat prices would continue to rise.
There s alc South Korea, which means that banks have a limited
amount of 1 ‘owers. As a result they have borrowed from overseas.

Households are worried about their level of debt, despite the recent growth in real
disposable income.

Source: Reuters




































Co-operatives

< < business organisations that are owned and run by their members
- ., Jloyees or customers) and have a common aim of creating value
for their members in a socially responsible way. The emp work

together towards a shared goal and each has a vote, so they can contribute to decision
making, Co-operatives share profits between their members and they are distributed
according ro how much each person conrributes to the co-operative.

Co-operatives operate in many areas of business, such as rerail shops, financial
services, credit unions, child care services, housing and agriculture. For example,
Canada has approximately 8500 co-operatives and credit unions, and more than
17 million co-operative members.

Co-operatives around the world follow the values and principles set out by the
Tnreppational Co-operative Alliance. These are:

sluntary and open membership
2mocratic member control

tlember economic participation
tronomy and independence
ducation, training and information
2-operation among co-operatives
sncern for community.

Source: International Co-operative Alliance
Fxamnles of ra-oneratives inchide:

»'s largest bank and credit union

rmers’ co-operative in China

roducer co-operative in Brazil

1 co-operarive in the USA that produce the famous

er of cranberry and grapefruit juice drinks, owned

ALtne ucean spray riantin miaaieooro, Massachusetts, USA





















Production

The demand for factors of production

Factors of production (see Chapter 1) are the resources used to produce goods and
o nrovide services. The four factors of production, or factor inputs, are:

and — natural resources used in the production process, such as raw materials,

sh and physical land.

abour - the physical and mental human inpur into the production process. This
__cludes the level of skills, qualities and qualificaiions of the workforce, and not

nly the number of workers.

‘apital — manufacrured goods used ro produce other goods and o provide

rvices, such as rools, machinery, vehicles, computers, factories, roads and money.

nterprise — risk-takers who provide the ideas and resources to organise the other
.aree factors of production in the pursuit of profit

In general, the demand for any factor of production is “his means
that the demand for facrors of production depends on _oods

and services that they will be used fo produce. For example, economics lecturers ar
university are hired only if there is demand for economics courses from

On a macroeconomic scale, the demand for the factors of production in a country
resuls from the roral level of demand for goods and services in an economy. For
instance, during an economic recession {sce Chapter 20), firms will demand less labour.

In addition to the derived demand for factors of production, the demand for land,
lahnur and capital also depends on their cost, availabiliry and quality.

he cost of factors of production — The higher the cost of land, labour and capital,

1¢ lower their demand tends to be. For exainple, Apple outsources the production
of its iPhones and iPads to Foxconn, a Taiwanese manufacturer based in China,
due to the relatively lower costs of land and labour.

Similarly, if labour costs are relatively high compared with the cost of capital

then workers might be replaced by machinery and technology. Also, the demand
O capital depends on the cost of borrowing money — tha is, interest rates.

he quantity (or availability) of land, labour and capital — The greater the
wailabiliry of factors of production, the lower their cost tends to be, and hence
the higher their demand. For example, the relatively large size and availability
of the workforce in India and China has boosted the demand for labour from
multinationals seeking to expand their operations. In general, the greater the

nantity of a factor of production, the lower its cost tends to be.

he quality of land, labour and capital — Higher-quality resources tend to demand
- higher price. For example, surgeons, pilors and barristers are in high demand
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For example, long-distance learning technology (such as e-learning and video
conferencing) allows students to study courses from the comfort of their own homes
without physically attending a university campus, replacing the traditional tecture-style
experience.

1 Outfine two benefits of capital-intensive technologies in the provision of

bt imFinnnl A sinan

Whether hrms choose more capital- or labour-intensive production methods depends
on several related factors:

he cost of labour compared with the cost of capital — Firms will rend to
~00se more capital-i ive methods of p ion if labour costs are relatively
high {assuming that it is possible o substitute factors inputs in the production

rocess), and vice versa.

e size of the market — Capital-inrensive production rends to take place for
tass-marker products such as soft drinks, passenger vehicles and consumer
electronics. Labour-intensive methods are often used for personalised services, such

i a private tutor, counsellor, adviser, instructor or coach.

he firm’s objectives — Profit-maximisers operating in mass markets rend ro opt
.or capital-intensive production methods in order to minimise their unit costs of
production. Other firms might choose to use labour-intensive methods as they
operate on a smaller scale o to safeguard jobs. Black & Decker, operating in
Shenzhen, China, uses labour-intensive production merhods to create jobs in the
special economic zone (see Chapter 16), benefiting from tax incentives from the
government.

Pendiimtivitg,

a measure of how well resources are used in the production process:
cuvs vy waev ~nnlOMic efficiency of land, labour, capital and enterprise. For example,
labour productivity measures the efficiency of the workforce in terms of output per
worker. It can be improved by having a better-skilled workforce (through education
and training) or by allowing workers o use better, more efficient rechnologies to
increase their output.

By contrast, the use of automation, such as the mbotics and specialised computer
equipment used in car manufacturing, can help ro raise capital productivity withour
the need to hire more workers.

Ine INput-outpuL process
















Costs, revenues and profits

Costs of production

< the payments made by firms in the production process. Examples of costs
ction include:

and salaries paid to employees

aid to landowners for hiring of business premises

ising expenses

15es of raw materials and components from suppliers

bills for telephone, gas and electricity services

nd payments to shareholders (see Chapter 10)
»aid to the government based on the value of company profits made.

osts or production can be categorised in four different ways.

S

 the costs of production thar have ro be paid regardless of how much a
or sells. For example, salaries for senior managers, insurance payments
2nd rent all have to be paid regardless of the firm’s output level. This relationship is
illustrated in Figure 12.1.

o Cutpit level
Figure 12.1 Fixed costs for a firm (with $4000 of fixed costs)



Mariabla ancis

e costs of production thar change when the level of ourput changes.

»  wew wene €OSES Of raw materials or components needed to build houses — the
more houses that are built, the higher these variable costs become. The total variable
cost line {see Figure 12.2) starts at the origin because when there is no output, no
variable costs are incurred.

!

le costs

c

Qutp level

Figure 12.2  Variable costs of a firm

Total costs
As the name suggests, tl *f production are the sum of all fixed and
variable costs. The rotal . n in Figure 12.3, starts at the same value as

fixed costs because even when nothing is produced, fixed costs still have to be paid
by the firm.

Toral costs = fixed costs + variable costs

Cost($)

© Ouput level

Figure 12.3 Total costs for a firm
Avsmrmmn amein

fer to the roral cost of making o#¢ product — it is the unir cost of

Average costs = total costs -+ ourput level

Firms that operate on a large scale are able o reduce their average costs of production
(see Chapter 14}. For example, Coca-Cola’s bottling plants can produce 10 000 cans
of soft drinks per minute. This enables Coca-Cola to benefit from lower unit costs of
production, as shown in Figure 12.4. Here, the firm s able to enjoy economies of



scale (lower average costs as it expands output from O to OF). If the firm becomes

0o large, by operating beyond O, it will sufFer from inefficiencies, thus leading o
diseconomies of scale (see Chapter 14).

Cost[$)
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Figure 124 Average costs of a firm

needed fo ~riinin
profit and

bo ot
variable wih ouput

Figure 12.5 Summary of business costs

[

fixed + varlable costs

1 Ine table Delow SNOWS @ TirMY's Tixed and variabie COsts of Production at affrerent

levels of output. Calculate the level of output where average costs are at their

Imanct

~

2

JONFISON s LANUIes Nds HXed sts 01 yauuy eacn month. Its average variable costs

are §3 per candle. The firm’s current fevel of demand is 2500 candles per month.

~* - average price of its candles is $6.
Jsing an example, explain what is meant by a fixed cost of production.

“alculate the firm’s current average costs.

“alculate the firm’s current total costs of production each month.
“alculate the profit if demand increases to 3000 candles per month.
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Pricing and output policies in perfect competition

A high degree of competition in a market can benefit consumers. This is because
they get good-quality products and good customer service, all at the right prices.
In addition, competition brings about greater choice, higher output and more
competitive prices (see Figure 13.1).

t

Increcsed compeition shits
the ket supply cun
A e > bt Ths
| causes the ket price o all
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Figure 13.1 Impact of competition on market price and output
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pricing and non-pricing strategies to compete. Market research published by Which?
(a consumer campaigning organisation in the UK) showed that most shoppers
believe supermarkets delfberately try to mislead them by using confusing pricing
strategies.

The Which? findings showed that supermarkets often use poor labelling and puzzling
prices for their products. For instance, a 600 jar of mayonnaise might be priced at
£3.49 while a 400 jar of the same brand is priced at £2.35 — so which one offers
better value? Similarly, pre-packed fruits and vegetabtes are found to have very
different prices compared with foose varieties of the same produce.

1 Price is one way in which supermarkets compete. Explain three non-pricing

Monopoly
fferent interpretations of what is meant by a monopoly. In general, a
i a market structure where one supplier dominates the market. Examples
la (carbonared soft drinks), YKK (zip fasteners) and Mabuchi (which
makes around 90 per cent of the micro-motors used to adjust rear-view mirrors
in cars).
A pure monopoly exists if only one firm supplies the whole market. In the USA,
this would include the United States Dostal Service {the only service provider of first
class postage) and the Federal Reserve (the sole supplier of banknotes and coins).









= e e p ey s e e e
terms of price, but also means it may need to rely on non-price factors to maintain
its marker share.

For example, many airline companies will set similar prices for their fights but
choose to compete on other aspects of their service, such as baggage allowance,
amount of leg room (space), flight times and connection times, the quality of the
food, the variety of their in-flight enterrainment, and the overall level of customer
vice.

enetration pricing — This imvolves serting a low price in order to enter a new
warket. This pricing policy is ofren used by firms when launching new products in
untested markets in order ro gain market recognition and market share. Tr can help
» give a product a competitive edge.
oss leader pricing — This happens when the price is set below the costs of
, roduction, thus making a loss in the short run.

Supermarkers often use loss leader pricing for some of their products (such as

toilet tissue or carbonated soft drinks} in order ro attract more customers to buy

ther products sold at the supermarket.

rice skimming — This pricing policy involves a firm setting an initially high price
.1 order to maximise profits and to recover its pre-launch costs, such as marketing
and R&D (research and development). Price skimming is often used when selling
new innovative products with few, if any, substitutes. The price is conrinually
reduced {or ‘skimmed’) as competitors enter the market to launch rival products
and compete for market share.

While novelty for a new product can cause high demand and hence a high price,
cusromers eventually look for newer versions or better alternatives. For example,
when Apple launched the iPhone 4S it was priced at $399 in the USA, although
the launch of the iPhone 5 in 2012 led to the price of the iPhone 45 falling o

1st $99.

romotional pricing — This commonly used pricing policy involves firms
nporarily reducing their prices to artract more customers. Promotional pricing
can be used to clear excess stock when a product is being withdrawn from the
market or to boost demand for products in a new marker.

This pricing policy is often used to encourage brand loyalty (when customers
stick to a certain brand due to their personal preference) and can thus increase the
firm’s market share in the long run.

Note that if monopolies exploit their marker power and act against the public
interest, perhaps by deliberately charging unreasonably high prices, then the
government can intervene to break up their monopoly powers. For example, a merger
berween the two largest firms in a market can be prohibited by the government if
there is reason ro believe that the monopolist’s resulting gain in market share (or
market dominance) will act against the interest of the general public. In 2013, Visa
and Mastercard were fined a record $7.25 billion for colluding to fix the credit card
fees that they charged rerailers.












Business growth

Size of firms

In every economy there are firms of different sizes. Small firms, such as local grocery
stores or sole proprietors (see Chapter 10}, co-exist alongside large multinational
companies such as Walmart and Apple. It may be the objective of a firm to increase
irs market share or to operate in several countries, and it will therefore put strategies
in place to achieve these aims. A business may start as one store and grow over time.
For example, Starbucks opened its first coffee shop in Seattle, USA, in 1971 and now
has around 20 890 stores in 62 countries. Alternatively a business may choose o stay
small, such as a wedding dress designer, a hairdresser or an owner of a small gife shop.
The size of a firm can be measured in the following ways:

be number of employees — In 2013, GlaxoSmithKline, a large pharmaceutical

smpany, had over 100000 employees. A small local grocery shop may have only
~ve employees.

he size of the market (market share) — For example, Hertz, Enterprise and

udget car hite companies collectively had 95 per cent of the car hire market in the
USA in 2013. Nestlé dominates the food and beverages market in Pakistan, as it
is the leading company in milk production and related products including yogurt,

ilk powder and burter. Ir also dominates the bottled water market in Pakistan.

1e capital employed in a firm — This is the difference between the assets of a

'm (what it owns) and its liabilities (what it owes). For example, in January 2013
Walmart's capital employed was $203.1 billion, making it the world’s largest

railer.

1e sales turnover (sales revenue) of the firm. This is measured by multiplying
__e unir price of a product by the quantiry sold see Chapter 12). For example, in
2012 ExxonMobil had sales rurnover of $433.5 billion and was the world’s largest
firm by this measure.

Firms of all sizes exist in local, national and international markets, and industries are
nfren dominated by large firms. For example:

1¢ sports clorhing industry is dominated by Nike, Adidas and Puma.
1¢ tennis racket industry is dominated by Wilson, Prince and Head.
1 chocolate industry is dominated by Kraft, Mars, Nestlé and Ferrero Rocher.

1ne structure of a firm influences its size. Small businesses tend ro be sole traders

or partnerships, while large firms tend ro be public limired companies thar can sell
shares on stock markets to obtain finance (see Chapter 10).


















An example of a conglomerate is the Tata Group, which has over 100 different
companies in its portfolio, ranging from hotels and hospitality enterprises ro mining
and air conditioning. Another example is the Swire Group, which owns businesses
that operate in many different markets, including retailing, beverages, aeronautical
operations, property development, mining and car trading.

Diversification spreads risks because the firm has a number of businesses in different
secrors of industry and therefore a failing business, which is part ofa larger group, may
be protected by the successfuul businesses within the group’s larger portfolio.

However, the conglomerate may become too diverse and this may cause problems
with the management of capiral and human resources. Ifa segment of the diversified
firm is under-performing, it may drain resources from other areas of the business.

Faciric viace, a snopping mail compiex in Hong Kong, is one of the core holdings
of the Swire Group’s property portfolio

harize

Figure 141 How businesses grow









‘e economies of scale that arise due to the location of
1al to the business. Examples of external economies
of scale are:

roximity to related firms — Tirupur in India is renowned for textile and
perment manufacturing. A garment manufacturer will benefit from having firms
that produce zippers, buttons, thread and fabrics located nearby, as this will give it

18y access to its suppliers and reduce transport costs.

vailability of skilled labour — In Tirupur there is a pool of skilled machinists
«.ad pattern curters. This should make recruitment of rextile workers with the

acessary skills relatively easy.

he reputation of the geagraphical area — This provides a firm with free
+ ublicity and exposure. For example, Silicon Valley in California, an area with a
worldwide reputation for sofrware creation and the development of information

chnology systems, has a large number of suitable skilled workers.

ccess to transport — Manufacruring firms benefit from being located near to
...3jor road networks, ports and cargo facilities. A café or restaurant will benefit
from being close to other shops, public rransport links and parking facilities.
China has invested heavily in developing its infrastructure to facilitate efficient
transportation of finished goods to ports and airports. This gives it a competitive
advanrage over India, where road and rail networks are less developed.
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average costs of production
start to rise. Therefore, the
disadvantages of growth start to
outweigh the advantages.

Reasons for increased average  pcorer aiion
costs of production include the

- . Figure 14.3 Diseconomies of scale
#nllowing:

ommunication issues may arise when a firm becomes too large. There may be t00
..tany branches to control and communicate with effectively, and decision making
may be slow due to the number of people in the communication chain. This may
" ad to increased costs of production.

merger between rwo firms may be unsuccessful due to a chash of cultures, so it
..y be beneficial to demerge. In 2010 the Fosters Group, which produces beer,
sold off its less profirable wine bt erger had not brought abour
benefits of economies of scale. TI lowed Fosters to focus on beer

roduction again.

may be necessary to employ more employees for all the branches of the firm,
_ranew factory may need to be built ro accommodate the increased level of
production. This will add to total costs of production and average costs of
production may rise.
















emergency services (fire, police and ambulance) and immigration services. Tn some
countries, the government goes further ro provide public utilities services (such
as gas, electricity and telecommunications) and terrestrial television broadcasting
services. These services are not run in the same way as they would be if private-
stor firms were seeking to maximise profits.
elfare services — In mixed economic systems {see Chapter 2, the government
. ovides social and welfare services to people in need. These include transfer
payments such as unemployment benefits and state pension schemes for the elderly.
The New Zealand government, for example, spends about NZ$12 billion
(99.88bn) each year on transfer payments.

Tn order to provide these goods and services, the government must employ factors
of production {see Chapter 1), including labour. Thus, the government can have a
significant role as an employer — especially those governments that operate a mixed
or a planned economic system (see Chaprer 2). For example, in countries such as
Australia, France, the USA and the UK, the government is a large employer of
teachers, health care workers (such as surgeons, doctors and nurses) and urban
planners.

Government influence on private producers

Governments influence private producers through the use of regulation, subsidies
and taxation policies.

Regulatiol
Governme :termine the boundaries within which private producers
can operat he use of employment legislation, consumer protection

laws. environmenral protection, competition laws and intellectual property rights.

aployment legislation — These regulations prorect the interests and safety
_. employees. For example, private-sector producers should comply wich anti-
discrimination laws which help to ensure that firms treat their workers fairly,

reoardless of their aoe cander race or ralicion

minimal quality standards. Firms that provide demerit goods and services such as
gambling, robacco and aleohol are also heavily regulated to protect consumers. For
example, cigarette advertising is banned in countries such as South Africa, Pakistan
and Australia. Tobacco advertising has been banned throughout Singapore since
1971. Tn most countries, cigarette packaging must also carry highly noriceable
health risk warnings.



























Fiscal policy is also used to redistribute income and wealth in the economy. Some
countries have quite high rates of income tax ro reallocate resources from wealthier
individuals to the poorer meinbers of society. Examples include Austria, Belgium,
Cuba and Senegal, which all have a top tax rate of 50 per cent. High income tax rates
can, however, cause severe distortions to the labour marker.

Fiscal policy can also be used in conjunction with supply-side policies {see below)
1o atfect the productive capacity of the economy, thus contributing to long-term
economic growth. Examples of how fiscal policy can impact the supply side of the
aconomy include:

1centives to work — Cuts in income tax can be used to create incentives for
, 2ople to seek emnployment and to work harder. Some economists argue that
reducing social welfare assistance such as unemployment benefits can also create
incentives for people to seek employment. Government support for business start-
ps can also creare incentives for entrepreneurs and business creation.
westment expenditure — Government capital expenditure on infrastructire
. uch as railroads, motorways, schools and hospitals) helps to boost investment in
the economy. Lower rates of corporation tax can also help to artract foreign direct
westment in the country, thereby boosting the economy’s potential output.
[uman capital expenditure — This refers to government expenditure on the
orkforce by investing in educarion and training. Such fiscal policies are designed
10 boost the productivity of labour (or the human capiral of the workforce).
Human capiral expenditure is often accompanied by government spending on
health care and transportation networks, as these help ro raise labour productivity
(see Chaprer 11).

Limitations of fiscal policy
There are three main limirations of using fiscal policy to control the level of
economic activity: problems with the timing (time lags), conflicting macroeconomic
objectives and political considerations.

There ate three problems with the riming of fiscal policy:

«ecognition lags — There is a rime lag in recognising that government
itervention is needed to atfect the level of economic activity. This is because
governments do not necessarily know if the economy is growing roo fast (or
aclining 0o quickly).
dministrative lags — There is a time delay between recognising the need for
..scal policy intervention and actually implementings appropriate action, such as
sproving tax changes or alterations to the government budget.
npact lags — There is a rime lag between implementing fiscal policy and seeing
1@ actual effects on the economy. A cut in income tax, for example, will take time
to have a significant impact on the spending habits of households.

A second limitation of fiscal policy is that of conflicting macroeconomic objectives
(see Chaprer 15). For example, the use of expansionary fiscal policy can certainly help
1o achieve economic growth, but a combination of tax cuts and increased government
spending can fuel domestic inflation. By contrast, contractionary fiscal policy can
help ro control inflationary pressures but might cause unemployment in the economy.
A final limitation of fiscal policy s its associated political problems. The political
cycle (of re-electing political leaders and political parties) can cause artificial shocks



to the business cycle (see Chapter 20). For example, expansionary fiscal policy might
be used prior ro a general election to boost the votes of the governing party, rather
than to rackle fundamental economic problems. Such practices can lead to higher
government debts due ro tax cuts and increased eovernment spendine.

the manipulation of interes rates, exchange rates and the money
2 amount of spending and investment in an economy. Inrerest
rares can refer to the price of borrowing money or the yield from saving money at
a financial institution. The money supply refers to the entire quantity of money
circularing an economy, including notes and coins, bank loans and bank deposits
(see Chapter 6).
Direcr control of the money supply is relatively difficult, as the detinition
of money is quite loose and banks can create credit quite easily (see Chapter 6).
Manipulition of exchange rates (see Chapter 25) is also rather difficult for
many countries due to the reliance on international trade and compliance with
the regulations of the World Trade Organizarion (see Chaprer 26). Hence, most
governments rely on interest rate policy to achieve economic stability. In most
countries, the central bank or monetary authority (see Chapter 6) is responsible for
overseeing exchange rate changes.

_nent in an economy

Use of monetary policy
Like fiscal policy, monetary policy can be used either to expand or t contract
economic activity in the economy.

Expansionary monetary policy, also known as loose monetary policy, aims
to boost econoic activity by expanding the money supply. This is done mainly by
lowering interest rates. This makes borrowing more attractive to households and









competition, leading to a dramatic increase in the number of faxis. In New Zealand,
postal services and the banking industry have been deregulated, allowing for both
domestic and foreign competition.

Capital investment

Some supply-side policies focus on the importance of investment in new technologies,
infrastructure and research and development {R& D), thus contributing to the
economic development of an economy. In the long run, capiral investment helps ro
increase the productive capacity and productivity of the economy.

Expenditure on new technologies and R&D can help to generate new products for
consumption, such as smartphones, tabler computers and environmentally friendly
cars. On an international scale, innovation can also be a good source of competitive
advantage for a country.

According to the IMF’s Worid Economic Ourlook, China’s capital investment as a
proportion of its annual GDT is expected o average 47.25 per cent between 2013
and 2016, whereas the rate for the USA is around 15 per cent. This should, in theory,
help Chinas quest for continual and sustainable economic growth.

Human capital investment

Human capital is the collective knowledge, skills and experiences of a country’s
workforce. Supply-side policies are used to improve the quantity and/or quality of the
workforce in the economy. These policies can be used ro create incentives to work.
For example, government-funded retraining schemes can help the unemployed to
improve their chances of finding paid employment. Increased government spending
on education and training are further examples.

Some countries spend a relatively large amount of their GDP on education, such
as Finland (6.4 per cent), Sweden (7.7 per cent), Denmark (8.5 per cent) and Brunei
Darussalam (9.1 per cent), whereas others, such as Botswana (2.2 per cent) and
Bangladesh (2.4 per cent), spend rather less.

Tax reforms

Tower taxes can create incentives for work {see Chapter 17), especially for people on
low wage rates. Over time, this can provide a boost to consumption. Tax cuts can also
encourage firms to invest in the economy, as they strive to maximise profits.

Enterprise zones

These are areas with relarively
high rates of unemployment where
the government creates financial
incentives for firms to relocate.
These incentives include rax
rebates and reduced regulations
in order ro artract private-sector
investments. Enterptise zones are
common in the UK, USA, China
and India.

City, China















the tax paid as a percentage of income (see Figure 17.2). For example, although
a high-income earner pays the same amount of airport tax or television licence
fee as a less wealthy person, the amount of tax paid is a smaller proportion of the
wealthier person’s income.

With a specific amount
; o ox paid, highincome:

20 eamers (hose ot Yo) pay
2 a smaller proportion of fax
5 (7 then lowincome
g, eames (fose on ¥; who
pay 1))
o % ¥
Income level

Figure 17.2 Regressive taxes

Under this tax system, the percenrage of tax paid srays

se taxpayer’s level of income, wealth or profis (see
Figure 17.3). An example would be a flat rate sales tax, such as VAT or GST. Sales
taxes vary considerably from country ro country: for example, Denmark has a
25 per cent GST, whereas sales taxes in India and Japan are as low as 5 per cent.
Another example is an income tax which is 20 per cent for all individuals regardless
of level of income.

Irespeciive of he.
= income level (¥ or ¥,
g the same ate of kax is
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Figure 17.3 Proportional taxes









The impact of taxation

Taxation has varying impacts depending on the type of tax in question. The impact
of raxation on economic agents and the economy are considered below.

npact on price and quantity - The imposition of a sales rax will shift the supply

irve of a product to the left {see Chapter 3) due to the higher costs of production.
This will increase the price charged to customers and reduce the quantity produced

1d sold.

npact on economic growth — Taxation tends ro reduce incentives to work and
.2 produce. By contrast, tax cuts can boost domestic spending, thus benefiting
businesses and helping to create jobs. Nevertheless, tax revenues are essential to
fund government spending (for the construction of schools, hospitals, railways,

“rports, roads and 5o on), which fuels economic growth.

npact on inflation — As faxation tends to reduce the spending abiliey of

dividuals and the profits of firms, it helps to lessen the impact of inflation (see
Chaprer 18). By contrast, a cur in raxes boosts the disposable income of households

d firms, thus fuelling inflationary pressures on the economy.

npact on business location — The rate of corporation tax and income tax

ill affect where multinational businesses choose to locate. For example, high
corporarion tax rates in Argentina (35 per cenr), Pakistan (35 per cent) and
Cameroon (38.5 per cenr) can put off some companies thinking of locating in
these countries. As a result, foreign direct investment in these countries might
be lower than otherwise. By contrast, it might be easier ro atrract workers in low
income tax countries such as Bulgaria (10 per cent), Macedonia {10 per cent),
“elarus {12 per cent) and Hong Kong (15 per cent).

npact on social behaviour — Taxation can be used to alter social behaviour with
e inention of reducing the consumption of demerit goods (see Chapter 5). For
example, raxing tobacco and alcohol should, in theory, reduce the demand for such
products. Taxes are also used to protect the natural environment by charging those
who pollute or damage it. For example, countries such as the UK and China tax
cars based on the engine size because vehicles with larger engines rend to cause
more pollution.
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Inflation

Tl abinn

a sustained rise in the general price level in an economy over time. This
an that the price of every good and service increases, but that on average
the prices are rising.
Governments aim to control inflation because it reduces the value of money
and the spending power of households, governments and firms. For example, the
inflation rate in the western Asian country of Syria (see Figure 18.1) was around 48
per cent in 2013, meaning thar the general price level in Syria increased by an average
Of 48 per cent in a year. This means that a product priced at 100 Syrian pounds
would increase to 148 Syrian pounds by the end of the year. This makes conditions
far less economically stable in Syria than in other countries with low and stable rates
of inflation, such as Canada, the UK and the USA (see Figure 18.2).
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Figure 18.1 Inflation rates around the world: selected countries, 2013






The ~anctmar wrian inday

T ZPI) is a common method used to calculate the

in e changes of a representative basket of goods and
services (those consumed by an average household) in the councry. For example,
items such as staple food products, clothing, petrol and transportation are likely
to be included. However, different weights are applied to reflect the relative
imporrance of each item in the average household’s expenditure. For example, a
10 per cent increase in the price of petrol will affect people far more than a 50 per
cent increase in the price of light bulbs, batteries or tomatoes. Changes in the CPT
therefore represent changes in the cost of living for the average household in the
economy.

The statistical weights in the CTI are
based on the proportion of the average
household’s income spent on the items.
in the representative basket of goods
and services. For example, if the ypical
household in a country spent 15 per
cent of its income on food, then 15 per
cent of the weights in the index would
be assigned to food. Therefore, items
of expenditure that take a greater
proportion of the rypical household’s
spending are assigned a larger
weighting. Changing fashions and
trends, such as a hike in household expenditure on smartphones, online apps and
rablet computers, require a review (or update) of the weights in the CPL.

The CPI versus the RPI

Both the consumer price index and £ RPT) can be used to
caleulate the rare of inflation. Both it nttern (see Figure 18.3).
However, there are three key differences to these price indices:

amongst the goods included in the ChI basket

he items uicluded in the calculations — The main difference is that the RPT
icludes the cost of housing, such as morrgage interest payments and other
housing costs. The RPT also includes overseas expenditure by domestic households.
he CPI includes costs paid for financial services.
he population base — Both price indices try to measure changes in the cost of
__ving for the average household. However, the RPT excludes low-income pensioner
households and very high-income households, as it is argued that these do not
present the ‘average® household or the expenditure of the average family.
he method of calculation — The RPT is calculared using the arithmetic mean
hereas the CPT uses the geometric mean. What this means is that the
rends ro be lower than the CPI {unless interest rares for mortgage repayments are
extremely low). For example, suppose the price changes for a product in the last
three months were 1 per cent, 2 per cent and 3 per cent. The arithmetic mean
1+2+3

(RPT) would average these changes to 2 per cent, e — 1= 2. However,
the geometric mean {CPI) would average these changes ro just 1.8 per cent, i.c.

3V1x2x3,



Source: ONS
Figure 18.3 The CPland RPI for the UK economy, 2000-12

A key polirical and economic reason for calcularing both price indices is that inflation
affects the whole economy and can have major impacts on certain stakeholders.

For example, payments for state-funded pensions and welfare benefits are linked to
inflation, so the use of the CPT will usually save the government money compared
with using the RP'I. By contrast, the taxes imposed on fuel, alcohol and tobacco are
linked to the RPI, thus generating the government more revenue than if it used the
CPL The RPI is also used by trade unions and firms as a starting point for wage
negotiations (see Chaprer 8).

The CPI is the preferred method for international comparisons of inflation. This
is partly because it uses a wider sample of the population when calculating and
assigning statistical weights to the index. The CPI, as the key measure of inflation for
most countries, is also imporrant as a benchmark when the government sets interest
rates {see Chapter 16).

Calculafing the CPl or RPI

A price index is used to indica percentage change in prices compared
with a starting period called ¢ “he CPIand RPI compare the price
index of buying a representatt ods and services with the base year,

which is assigned a value of 100. Hence, a price index of 115.2 means thar prices
have in general increased by 15.2 per cent since the starting period. If prices were
to rise by another 5 per cent in the subsequent year, the price index number would
become 120.96 (that is, 115.2 x 1.05), or 20.96 per cent higher since the base year.
Price changes in the CPI and RPI are measured on a monrhly basis but reported for a
12-month period.

Calcularing changes in the CPI or RPI gives the rate of inflarion. To do so, two
stens are involved:

Alection of the price data on a monthly basis

signing the statistical weights, representing different patterns of spending over time.
1ne simplified example in Table 18.1, with three products in the representative basket
of goods and services, shows how the wtal basket price is calculated. Assume 2012 is
the base year, when the total basker price was $20.
























Aggregate supply -
Deflation can be caused by E B
higher levels of aggregate supply,

increasing the productive capacity

of the economy {see Chapter 11).

This drives down the general price

level of goods and services while

increasing national income. Such

deflation is called benign deflation

(non-threatening deflation). For

exainple, supply-side policies such

as investment in education and

infraseructure (see Chapter 16), ‘ina s mgn-speea ran

higher productivity, improved

managerial practices, technological advances and government subsidies for major
industries all help to raise national income in the long run.

In Figure 18.7, this is shown diagrammarically by a rightward shift of the
aggregate supply curve from AS, to AS,, reducing the general price level from P,
©© P,. This happened in China during the past three decades with the Chinese
government pouring huge amounts of investment funds into building new roads and
rail networks (the country spent $104 billion on railway investment in 2013).

N
National Income:

Figure 18.8 Deflation caused by demand factors

Aggregate demand

Deflation can also be caused by lower levels of aggregate demnand in the economy,
driving down the general price level of goods and services due to excess capaciry

in the economy. This causes what is known as malign deflation (deflation that is
harmful to the economy). For example, during an economic recession {see Chapter
20), household consumption of goods and services falls due to lower GDP per capita
and higher levels of unemployment. In Figure 18.8, this is shown by a lefrward shift
of the aggregate demand curve from AD, to AD;, reducing national income from
T, ©© T;, and forcing down the general price level from P; to P,. This happened

in Japan for much of the past two decades as the Japanese suffered from severe
economic recession. This cause of deflation is a concern as it is associated with a
decline in national income and standards of living.
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countries in Africa. Over 42 per cent of the population is aged below 15 and Nigeria
has a farge dependency ratio of almost 86 per cent. Gender inequalities mean the
country has one of the lowest female employment rates in the world, with less than
45 per cent of working age females in employment. Most people are employed in
primary industries. Nigeria is a large producer of crude oil — about 90 per cent of its
export earnings come from the safe of oil. Figure 19.2 shows unemployment rates in
Nigeria between 2006 and 2013.
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re19.2 Nigeria's unemployment rate, 2006-12

Descr employment in Nigeria from 2006 10 2013, [2]
Nigeri rorkforce) is around 87.7 million. With an
anem nt, calculate the number of unemployed

Employment as a macroeconomic objective

High emp , or low unemp s a key ic objective of all

~rsarnments. There are several reasons for this, as high employment helps ro:
ise standards of living for the average person in the country (see Chaprer 21)
crease economic growth — ancther key macroeconomic objective {see Chapter 20)
ise tax revenues (due o higher levels of income and spending in the economy) ro
1ance government spending
duce the financial burden and opportunity cost for the government, as spending
1 welfare benefirs falls
event *brain drain’ from the economy — this can occur during periods of high
_.aemployment when highly skilled workers leave the country in search of job
pportunities elsewhere
:duce income and wealth inequalities — poorer people are more affected by
_nemployment, as they lack savings and wealth.



rate be(ween 2007 and 2013 was kep( s‘eady al between S and 6 per cent. Tms
according to the Central inteliigence Agency (CIA), meant that Pakistan‘s gross
domest«( produd grew by 37 per centin 2012 and another 5 per cent in 2013. These

F i thn

Causes of unemployment
There are many potential causes of unemployment. These causes can be explained by
~~mining the various rypes of unemployment.
rictional unemployment is transitional unemployment that occurs when people
_ange jobs, due to the time delay berween leaving a job and finding or starting a
new one. Therefore, frictional unemployment always exists in the economy because
it takes time for [l\e labour marker to match available jobs with the people looking
Ox jobs.
easonal unemployment is caused by regular and periodical changes in demand
o certain products. For example, fruit pickers are in high demand during the
summer months while rerailers tend to hire more temporary workers during the
Christmas season {the busiest time of the year for most retailers}.

T

«chnological unemployment occurs swhen workers lose their jobs due o firms
ting to use capital-intensive technologies (see Chaprer 11). This can cause large-

scale unemployment in cerrain industries. For example, supermarkets in Europe
introduced self-service checkouts in 2009. Their huge success and cost savings for
supermarkets and other rerailers mean that fewer workers need ro be hired.
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most likely 10 be affected during an economic downeurn. For example, youth
unemployment in Greece hit a record of 58.4 per cent in 2012 (the highest rate
ever recorded for an EU nation) and Spain’s youth unemployment reached a
" istoric high of 55.7 per cent in 2013.

egional occurs when p affects specific geographical
.-eas of a country. While busy central business districrs tend to have higher rates
of employment, remote rural areas have relatively high rares of unemployment. Tn
the USA, unemployment averaged 7.7 per cent in March 2013. However, the rate
was higher in some states such as Mississippi and Nevada (both at 9.6 per cent) and
much lower in other districts such as Nebraska (3.8 per cent) and North Dakota
2.3 per cent).

tructural unemployment occurs when the demand for products produced in a
Larticular industry falls continually, often due to foreign competition. There are
strucrural and long-term changes in demand for the producrs of cerrain industries.
The UK, for example, has suffered from structural unemployment in shipping,
textiles, steel production, coal mining and car manufacturing. Those who suffer
from structural unemployment usually find it quite difficult to find a new job

ithout retraining.

sluntary unemployment occurs when workers choose not to work. Voluntary
_xemployment usually exists in economies with relatively generous welfare benefits
for the unemployed as well as high rates of income tax, thus crearing disincentives

» work at current market {equilibrium) wage rates.

lassical (real-wage) unemployment occurs when real wage rates are ser above
.1e market-clearing level, such as in the case of a national minimum wage {see
Chapter 7). This leads to excess supply of labour, as the number of job-seekers
exceeds the demand for labour. In Figure 19.3, the imposition of a minimum
wage raises the cost of labour from W, to Ws. At the higher wage rate, demand
for labour is N; bur the supply of labour is Nj; the difference represents
unemployment, as firms are unable and /or unwilling to pay workers more than
their marker (equilibrium) value.
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Figure 19.3 Classical unemployment






Consequences of unemployment

Unemployment affects a range of the

their families; employers and firms; the government; and souety as a whole. The
include the

he unemployed suffer from stress, low self-esteem, homelessness, depression and
ther health problems. In extreme cases, unemployment has led to suicide.
amily and friends may also suffer from lower incomes and this often leads to
~guments and even separaion or divorce.
he local community can suffer if there is mass unemployment — for example, there
.1y be poverty, falling house prices (and hence asset values) and increased crime
ites in the neighbourhood.
irms lose out as there are lower levels of consumer spending, investment and
 rofits. Business failures and bankruptcies are more likely to occur during periods
£ high unemployment.
he government may face higher expenditure on welfare benefits and health
_ure for the unemployed. Prolonged periods of high unemployment can lead to
«creased government debts.
axpayers stand to lose due to the opporrunity costs of unemployment — the
_«pendirure projects forgone due ro increased spending on unemployment and
elfare benefits.
he economy suffers from being less internationally competitive, due to falling
vels of spending and national ourput.

Policies to deal with unemployment

Governments can try o deal with the problems of unemployment in a number of
ways. This partly depends on the causes of unemployment in the economy. As there
are many types and causes of unemployment, the government needs to identify the
best policies to deal with the problem. There are four general policies for reducing
unemployment: fiscal policy, monetary policy, supply-side policy (see Chapter 16) and
nevectionist measures (see Chapter 26).

iscal policy — This is the use of
_xation and government spending
policies ro influence the level of

economic activity. It can be used to g

tackle unemployment caused by =S
demand-side issues, such as cyclical 8 &
and structural unemployment. The &~

use of expansionary fiscal policy (tax
cuts and increased government
spending) can boost aggregate
demand and real national income, as
shown in Figure 19.6. In turn, this
will lead ro more employment
opportunities.

n T2
Natonal Income
Figure 19.6 Expansionary fiscal policy
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encouraging households and firms to spend and invest. In Figure 19.7, higher
aggregate demand boosts the demand for labour curve from Dy, to Dy,. This
results in higher levels of employment in the economy, as shown by the move from
N, to N,. The resulting rise in real wage rates from W} to W, also helps to attract
more labour, causing an expansion along the supply of labour (S, curve. Like fiscal
policy, monetary policy tackles denrand-side causes of unemployment.

Real wage dte (W)

NNy
Employment of labour (N
Figure 197 Monetary policy and the labour market

rotectionist measures such as tariffs and quotas {see Chapter 26) can be used
2 safeguard domestic jobs from the threat of international competition. For
example, the Japanese government imposes up to 778 per cent import raxes
on rice — the highest rate in the world — in order ro protect agricultural jobs in
1e country.
upply-side policies — These government strategies are used to deal with
nperfections in the labour marker and ro reduce unemployment caused by
supply-side factors. Thus, these policies are aimed at addressing frictional,
volunary and classical unemployment, although they can also be used to help
reduce structural and cyclical unemployment. Examples of supply-side policies are
Oillows:
westment in education and training helps unemployed people to gain
_.2w skills so they can find employment. An example is retraining structurally
unemployed manufacturing workers to help them find work in the rertiary
secror. Education and training expenditure should also help future generations
» become more skilled and employable.
reduction in trade union powers means that labour unions are not in such a
rong bargaining position to obrain higher wages (see Chaprer 8). Strong rrade
unions have often been able to demand annual pay rises in excess of inflation
and the market equilibrium level. Hence, government intervention to reduce
the influence and power of trade unions can help to reduce classical (real-wage)
unemployment.















and Germany’s highly skilled workers have contributed to the economic growth of
these countries. The mobility of labour refers to the extent to which workers can
change between jobs (known as occupational mobiliry) and the extent to which
they are willing and able to mowve to different locations for employment (known
as geographical mobiliey). Generally, the more occupationally and geographically
wobile workers are in a country, the greater its economic growth is likely ro be.
abour productivity — This refers to the amount of goods and services that
orkers produce in a given time period. It is often referred to as ourput per
worker, expressed as a monetary value (GDP divided by the country’s labour
force). Labour productivity (the productive use of labour) is a key determinant of
economic growth. This is determined by several interrelated factors, such as the
qualifications, experience and training, and motivation of the labour force.
Technological advances, such as the use of internet technology in e-commerce
(online trading), can also enhance labour productiviry. An increase in the labour
productivity of a country helps to improve its international competiriveness and
" 2nce its prospects for economic growth.
nvestment expenditure —In order to remain competitive in the long run, countries
st invest in capital resources. Investment is a component of aggregare demand, so any
increase in investment
should help to boost
the country’s GDP.
Investment helps o
boost the country’s
productive capacity
in the long run.
Investment expenditur
on physical capital, sucl
as the use of computer:
in production (see
Chapter 11) can also
help to improve labour
productivity. Policies
1o encourage foreign
direct investment (the  Japan‘s Honda, Nissan and Toyota production plants in the UK help
investnents made by 1o create jobs in the UK and therefore boosts its GDP
foreign multinational
companies in overseas markets) can also help a country’s economic growth and
development. For example, Japan's Honda, Nissan and Toyota have production plants in
the UK, which helps to create jobs in the UK and therefore to boost its GDI.

Advantages of economic growth

In general, economic growth is desirable due to the advantages that it brings for
merubers of sociery. These advantages include:

nproved standards of living — Economic growth tends to lead to a higher
_.andard of living for the average person. Higher income levels in a country enable
people to spend more money to meet their needs and wants (see Chapter 1). This
helps ro eliminare absolute poverry in the country.






























domestic product of a country by its population to find the income level of the
average person. The lower the GDP per person, the poorer the country tends
to be. According to the World Bank, Luxembourg has the highest GDP per
head ar $114508, whereas the Democratic Republic of Congo has the lowest at
Tist §231.

ow life expectancy — Life expectancy measures the number of years that the
wJerage person in a country is anticipated to live for, based on staristical trends.
The lower the life expectancy, the poorer the country tends to be. Data from the
‘World Bank support this, with the likes of Sierra Leone, Congo, Zambia and
~vaziland all having life expectancy of between 48 and 49 years.

ow literacy rates — Literacy rates measure the proportion of the population
2ed 15 and above who can read and write. Low-income countries have
insufficient investment in education and training, so their literacy rates tend
to be low. This has major consequence for employment, production and
productivity, thus negatively impacting on the GDP of the country. High-income
countries have 100 per cent literacy rates whereas low-income countries have
very low literacy rates, such as Mali (31 per cent), Chad (34 per cent) and Guinea
““1 per cent).

igh population growth — Population growth measures the annual
percentage change in the population of a country. Poorer countries tend to
have high population growth rates for many reasons: a lack of family planning
and sex education, poor access to contraception and cultural norms (it is
common and widely accepted to have many children in some countries and
cultures).
® Poor infrastructure — Infrastructure refers to the system of transportarion

and the communications networks necessary for the efficient functioning of
an economy, such as buildings, mass transporration, roads, water systems, ICT
systems including the internet, airports and power supplies. According to the
‘World Economic Forum, countries with very poor infrastructure include Bosnia
and Herzegovina, Angola, Mongolia, Nepal, Lebanon and Chad. Table 21.3 shows
the number of internet users per 100 people in 2012.



























Supply-side policies
These policies are used to boost the long-run productive capacity of an economy (see
Chapter 16). For example:
olicies to reduce unemployment {see Chapter 19), because unemployment is a
.aajor cause of poverty and inequality. Examples include government incentives
to attract foreign direct investment and government-funded job creation and
‘training schemes.
olicies to increase the quantiry and quality of educarion in the economy. Over rime,
1is will help ro improve the human capital and productive capacity of the country.
ustained economic growth, which helps to create more income and wealth for
e country (see Chapter 20). This can then be redistributed to the deprived and
nderprivileged members of society.
abour market reforms ro improve the efficiency and productivity of the workforce
\-ee Chapter 11). The introduction of a national minimum wage, or imposing a
higher minimum wage rate, can improve the standards of living for low-income
households.

Foreign aid

A fourth and final policy that can be used o alleviate poverty is foreign aid. Fiscal,

monetary and supply-side policies tend to be internal methods: that is, they are

within the control of the domestic government. However, with foreign aid there

is 2 huge reliance on the donor — something that cannot be controlled by the

government. Foreign aid can be a stimulus for reducing poverry, inequalities and

unemployment in the economy. Successful foreign aid programs help to increase

the country’s producrive capacity, thus shifing out its production possibiliry curve

(see Chapter 1). There are various forms of foreign aid thar can be used to tackle the

problems of poverty:

® Bilateral foreign aid — This is official financial assistance from one government
to another, usually due ro political and economic interests. It provides immediate

ess to aid.

Tultilateral foreign aid — This is official financial assistance from more than
_ne source, such as foreign governments, international organisations such
as the World Bank, and non-governmental organisations such as Oxfam and
" Tnicef.

levelopment aid — This is official financial assistance from governments and
..gencies such as the World Bank to fund the economic development of a count

s helping to alleviate poverry in the long run.

[umanitarian aid — This is philanthropic (charirable} financial assistance for
_ving lives and maintaining human dignity. It is often used in response to major
crises such as natural disasters and outbreaks of infectious diseases. Examples
include medical aid, food aid and emergency relief assistance.







Population

Factors that affect population growth

Pop trefers ro the total number of inhabirants of a particular country.

Ecw. are interested in population size because people are essential for the
economic prosperity of a country and also responsible for the depletion of the Earth’s
scarce resources. Population yrowth refers o the rate of change in the size ofa
country’s population. Change in population size can have huge and long-lasting
effects on the world’s economv and the natural environment.

INe NIgner a country s DI rae, e greater 1ts populauon growth tends to be
Changes in four key factors affecr the rate of population growth.

Birth rate

The birth rate measures the number of live births per thousand of the population

in a year. It is measured by dividing the total number of births in a country by the
population size, expressed per thousand of the population. For example, in 2012
Swaziland had a population of around 1386915 and about 36 280 live births. Thus, its
birth rare was equal to 26.16 per thousand of the population. The higher a counrry’s



birth rare, the greater its population growth will rend to be. According to the CIA
Worid Factbook, Niger, Mali and Uganda have the highest birth rates (of 47.6, 46.6
and 45.8 respectively) whereas Monaco, Hong Kong and Tapan have the lowest birth
rates (of 6.85, 7.54 and 7.72 respectively).

Death rate

The death race measures the number of deaths per thousand of the population in
avear. It is measured by dividing the total number of deaths in a country by the
population size, expressed per thousand of the population. For example, in 2012
Canada had a population of around 34 300085 and abour 277 490 deaths, meaning
that its death rate was 8.09 per thousand of the population. The lower a country’s
death rate, the greater its population growth will rend to be. According to the CIA
World Factbook, South Africa, Ukraine and Lesotho have the highest death rates {of
17.23,15.76 and 15.18 respectively) whereas Qarar, the United Arab Emirates and
Kuwait have the lowest death rates (of 1.55, 2.04 and 2.13 respectively). The death
rate is dependent on factors thar aftecr the quality of life, such as income levels, health
rechnologies, nurrition and housing.

Fertility rate

The fertility rate measures the average number of children born per woman, thus
indicating the potential for population change in a country. Economists consider a
fertility rate of two children per woman to be the mininmum replacement fertility
rate for a stable population (the number of children that the average women must
have o replace the existing population). Fertility rares above two childten indicate
a growing population, with a declining median age for the population. By conrrast,
lower fertility rates indicate a falling population, with the average age of the
population increasing. Fertility rates tend to fall as an economy develops, due to the
higher opportuniry costs of raising children. According to the CIA World Factbook,
Niger, Mali and Somalia have the highest fertility rates (of 7.16, 6.35 and 6.26
respectively) whereas Singapore, Macau and Hong Kong have the lowest fertility rates
{of 0.78, 0.92 and 1.09 respectively).

Net migration rate

The size of a population can also change due to the physical movement of people
in and our of a country. Immigration occurs when people enter a councry to live

and towork. Bt ©"on occurs when people leave a country to work and live
abroad. The net tion rate measures the difference between the number of
people entering _______ving a country per thousand of the population in a year. It is

calculared using the formula:
Net migration rate = immigration — emigration

If more people enter a country than leave in the year, there is said to be net
immigration. For example, in 2012 Qatar, Zimbabwe and the Brirish Virgin Islands
had net immigration rates of 40.62, 23.77 and 18.56 respecrively. By contrast,

if more people leave a country than enter the country, there is said to be net
emigration. For example, in 2012 Jordan, Syria and Micronesia had net emigration
rates of —33.42, —27.82 and —20.97 respectively.












Dependency ratio

The dependency ratio is a comparison of the number of people who are not in the
labour force wich the number of people in active paid employment. For economists,

the dependent population will eypically include all those aged between 0 and 14

(those below the school leaving age) and those aged 65 and above (those above the

retirement age). However, it also includes full-time students and the unemployed.
The depender o measures the dependent population as a proportion of the

working pop

and 65). I is re calculated using the formula:

Dependency ratio = dependent population + working population

The higher the dependency ratio, the greater the tax burden on the working
population to support those who are not economically active {not in active paid
emnloyment). The dependency ratio can rise due to several reasons, such as:

igh birth rates, mainly in less economically developed countries

1: that is, the total active labour force {those aged between 15

higher compulsory school leaving age, thus keeping school students as part of the

2pendent population for longer
xcial changes such as workers entering the labour force ar a larer srage due to

e demand for higher education, or more people choosing early retirement (thus

reducing the size of the working population).

e

Study the data below from the CIA World Factbook for the gender ratios in China,

and answer the questions that foflow.

.
.
.
.
1

~

at birth: 1.13 male(s) per female

under 15 years: 1.17 male(s) per female

15-64 years: 1.06 male(s) per female

65 years and over: 0.92 male(s) per female

total population: 1.06 male(s) per female
Briefly explain how China’s one-child policy might have influenced the gender
ratios in China.
QOutline two economic implications for a country that has an uneven

e Ane enbin

The optimum population
While there are reasons for ditferent population sizes and different rates of population
growth in different countries, economists argue that there is an optimal {best or
ideal) population for each country. The optituum population exists when the output
of goods and services per head of the population is maximised (see Figure 22.4).









in car manufacturing, rextile production, chemical engineering and rextbook
publishing. This is the dominant sector in most industrialising and developing
untries.
ertiary sector output refers ro the provision of services. Examples of jobs in this
.cror are accountants, teachers, doctors, lawyers, financial advisers and rerailers.
The tertiary sector tends to be the most important in high-income economies.

As an economy develops, there tends ro be a shift away from reliance on primary-
and secondary-sector production towards tertiary output {see Table 22.4). In
general, countries with a low level of GDP per capita are at their early stages of
economic development, so most people work in the primary sector. As these
countries advance, the majority of their gross domestic product is generated from the
secondary secror. Finally, in economically developed countries with a high income
per capira, the terriary secror accounts for the largest share of employment and of the
country’s GDP.
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The changing size and structure of the population also has effects on an economy.
Tr has an impact on the following:

‘onsumers — The demand for goods and services changes with variations in
+ spulation trends. Customers have different demands based on their age, gender,
religion, ethnic group and family size. For example, elderly people in a country with
an ageing population might spend proportionately more of their money on health
care and related products. By contrast, parents of young children might spend more
of their income on housing, education, clothing, family vacations and roys. Firms

ill seek to exploit these changes in demand for different goods and services.

irms — The demand for, and supply of, labour will change following long-term
_aanges in population trends. For example, rapid population growth should
increase the furure supply of labour. By contrast, the combination of low birth
rares and ner emigrarion will reduce the future supply of workers in the country.
According to the World Health Organization, a staggering 2 billion people will
be aged 60 years and over by 2050 — more than triple the number in 2000. By the
end of 2012, only Japan had more than 30 per cent of its popularion aged at least
60, but some 64 countries are expected to have reached this figure by 2050. The
ageing population of these nations, especially in the case of high-income countries,

ill have profound impacts on the furure supply of labour.

‘overnment — A growing population can bring about benefits if it means the
oovernment is able to collect more tax revenues from a larger workforce. However,
it can also mean added pressure for the government to provide more public
services, welfare benefirs and srate pensions. As a resulr, many governments have
introduced compulsory pension savings schemes and have raised official retirement
ages. For example, France increased the retirement age from 60 to 62 vears in
2011, with plans ro increase this gradually ro 68 years of age.
























Disadvantages of specialisation

The benefirs and disadvantages of specialisation for the individual are covered in
Chapter 7. Diespite the potential benefirs of regional and national specialisation, there

ava cavaral dramwharke

1 a region can cause structural and regional unemployment

Full Monty, the highest grossing British movie, which cost
only $3.5 5 million produce but made over $250 million at the box office, was
about six unemployed men in Sheffield, UK, which used to be a major producer
of steel. Although the film was produced as a comedy, it featured some key
consequences of the collapse of steel production in the UK, such as regional
unemployment, stress, depression and suicide.

Countries that overspecialise also suffer the most during an economic
downturn, as they do not have a variety of goods and services that they can rely
on ro survive. For example, Liberia is highly dependent on is agriculrural ourput,
which accounts for around 61 per cent of its GDP. Adverse weather conditions
could wipe out much of its agricultural production, thus severely harming the
onomy.
igh labour turnover occurs if lots of workers choose ro leave their jobs in
arch of more challenging and less boring ones. Tn a country that has a labour
turnover rate of 12.5 per cent, one worker in every eight changes jobs each year.
The higher this rare, the more expensive it is for the economy, as firms have to
continually hire and train workers. Industries thar suffer from high labour
turnover tend to pay low wages to low-skilled workers, such as those working in
call centres, retailing, catering {including fast-food restaurants}), supermarkets

1d hotels.
ow labour mability — Low-skilled
1d poorly paid workers tend to
receive lirtle training, so they may
not develop the necessary skills to
find alternative jobs. Again, this can
lead o structural unemployment. —

Highly skilled workers, such as
pilors, dentists, sofrware developers,
financial advisors and attorneys can
also find it extremely difficult to
change to alternative professions and
careers.

Job specialisation also makes
cross-functional rraining difficulr
—in other words, workers only
have a narrow understanding of
the overall business. By contrast,
cross-functional training would
help to make workers more versatile
and expand their skills. This lack
of labour market flexibility can
reduce the economic efficiency and  Staffordshire used to have a thriving pottery
international competitiveness of the  industry (another example of overspecialisation)
country. ~now the area is full of derelict factories



















Causes of current account deficits
A deficit on the current account can occur due o a combination of two factors:

ower demand for exports — This could be caused by a decline in manufacturing
_dmpetitiveness, perhaps due to higher labour costs in the domestic economy.
Another factor is declining incomes in foreign markets, perhaps due to an
economic recession. This means households and firms have less money available
to spend on another country’s exports. A third cause of lower demand for exports
is a higher exchange rate (see Chapter 25). This makes exports more expensive for
* reign buyers, so it reduces the volume and value of exports.

1wcreased demand for imports — Domestic buyers tend to buy more imports if
__ey are cheaper or of better quality. For example, a higher exchange rate means the
domestic currency can buy more foreign currency, so this makes it cheaper to buy
imports. Alternatively, domestic inflation means that imports are relatively cheaper,
50 more domestic residents and firms will tend ro buy foreign goods and services.

. s e
questions that follow.
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Consequences ot current account deticits
There are consequences of current account deficits for the domestic economy. Like
an individual, a country cannot spend more (on imported goods, services and capiral
flows) than it earns (from the export of goods, services and capital).

The severity of these consequences depends on the size and duration of the deficit.
Nevertheless, a current account deficit is generally considered ro be unfavourable for
+h= 2conomy for the reasons outlined below:

educed aggregate demand — A trade deficit means the economy is spending
..ore money on imports than it receives from the export of goods and services. This
can cause aggregare demand in the economy to fall, thus triggering a recession {see
Chapter 20). The USA’s trade deficit with China {see the Exam Practice question
below) has been blamed for much of the country’s recent economic problens.






Dealing with current account deficits

There are four main policies that can be used to improve a country’s current account
balance: fiscal and monetary policies (which tackle demand-side issues), supply-side
policies and protectionist measures. These macroeconomic policies are covered in
more detail in Chaprer 16.

scal policies — These measures use a combination of higher taxes and reduced
., vernment spending in order ro reduce the amount of money available to spend
1imports. In theory, this helps ro reduce the current account deficit.
{onetary policies — Higher interest rates make new and existing loans more
pensive for households and firms. Therefore, this reduces their demand for
imports. Alternatively, the central monetary authority of a country (see Chapter 6)
might decide to devalue the exchange rate to improve the nation’s competitiveness.
This also has the effect of reducing the price of exports and making imports more
msive.
ply-side policies — These policies strive to raise the productive capacity of the
\omy. Examples are:
vestment in education and health care ro improve the economy’s human
ipiral, productivity and international competitiveness
vestment in infrastructure ro support businesses and industries, especially
10se engaged in export markets
easures ro encourage export-driven business start-ups and industries, such as
svernment subsidies and tax incentives.
tectionist measures — These measures reduce the competiveness of imports,
~eby making domestic consumption more atrractive. For example, tariffs
(import raxes) raise the price of imports while quoras (see Chapter 26) limit the
amount of imports available.
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Current account surpluses
Causes of current account surpluses
& enrplus on the current account can occur due o a combination of two factors:

igher demand for exports — This could be caused by an improvement in

anufacturing competitiveness, perhaps due o higher libour productiviry in the
domestic economy. Another factor is higher incomes in overseas markets, meaning
that foreign households and firms have more money ro spend on the couniry’s
exports. A third cause of higher demand for exports is a lower exchange rate (see
Chapter 25), which makes exports less expensive for foreign buyers.


















However, the demand for some imports is price inelastic because they are not readily
available in the domestic economy yet are essential for producrion {such as oil and
other vital raw materials). Therefore, domestic firms have to spend more on these
important imports when the exchange rate falls in value. For example, if the Mexican
peso (MXN) falls against the Canadian dollar (CAD) from 12.5:1 ro 14:1, then
Mexican firms buying Canadian oil at a price of CAD100 per barrel pay a higher
price of MXN1400 per barrel instead of the previous price of MXN1250 per barrel.
This means Mexican firms may need to reduce their price by around 12 per cent o
remain competiive, despite their higher costs of production due to the fall in the
value of the Mexican peso.

In the same way that changes in the exchange rate can affect the demand for
exporrs and imports, they can also affect the amount of tourism revenue and the
profitability of businesses, and can therefore impact upon unemployment and
economic growth.

Floating exchange rate systems

system: floating and fixed.

e value of a currency is determined

ency and supply of the currency. For
example, overseas rourists buy (demand) the foreign currency by selling their
domestic currency. Countries that adopr this system allow the value of their currency
to be determined by the market. Examples are Belgium, Chile, Luxembourg, Spain,
Japan, New Zealand, Sweden and the United Kingdom.

If banks in New Zealand offer investors higher interest rates than those in the UK,
this can cause investors ro take advantage by buying the NZD. This will increase the
demand for the NZD, thus shifting its demand from D, to D in Figure 25.1. This
raises the price {or exchange rate) of the NZD from £0.55 o £0.65. By contrast, a
fall in interest rates is likely ro drive investors away as they search for investments thar
generate a betrer financial return.
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Figure 25.1 Changes in interest rates and the imnact on exchanae rates
In a floating exchange rate system, there is « 1 the exchange

nge rate is rising against otk sontrast, there is a
“the exchange rate if its value falls against other currencies.






























unemployed berween 2013 and 2016, partly due to the higher sales of Japan’s
Toyota across Europe as a result of free trade. In extreme cases, fierce competition
om foreign rivals can even forc 1s our of business.
prevents foreign countries fro i goods in the domestic economy.
umping occurs when foreign 1 «toducts in large quantities at prices
deliberately below those charged by domestic firms, often even below the cost
of production. This clearly gives the foreign firms an unfair price advantage, so
protectionist measures may be needed. The European Union has recently accused
China of dumping its glass solar panels and the USA has accused Vietnam of
1mping its shrimps.
“otection can also be a source of government revenue. For example, India
1poses a $535 per 10 gram tariff on the import of gold, thus helping ro raise tax
rvenue for the government.
rorection might also be required ro overcome a balance of payments deficit
-ee Chapter 24). If a country’s expenditure on imporrs exceeds the revenue
earned from its exports, the country will experience problems as it spends more
than it earns. Protectionist measures to restrict imports would help ro deal with
1is imbalance.
1 terms of strategic arguments, the government might use protectionism
o safeguard the country against being t0o dependent on goods and services
from other countries. For instance, if a war were to break our then protecrionist
measures give the country the ability and capacity to produce all the goods and
services that it needs, rather than having to rely on foreign countries. A country
such as Canada or the UK might want to have more oil production in order to be
less reliant on imports from oil-rich nations that have the abiliry ro distort world oil

prices and oil supplies.

Arguments against protectionism
Thesnite the merits of protectionism, there are potential drawbacks:

overnment intervention distorts market signals and therefore can lead w a
., obal misallocation of resources. For example, domestic consumers may not be
able o purchase lower-priced imports which are of higher qualiry than those
produced domestically. Protected firms and industries can become oo reliant on

e government and thus become inefficient.

‘orection can lead to increased costs of production due to the lack of
_ompetition and of incentives to be efficient or innovative. Domestic producers
may need to pay higher prices for vital imported raw materials and components,
50 this could lead to imported inflation (see Chapter 18), thus leading ro higher
domestic prices.






fruits and vegerables from Thailand. The quota limits the quantity imported and
thus raises the market price of foreign goods (see Figure 26.2).
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Figure 26.2 The impact of quotas

Governments can provide subsidies (lump-sum payments or cheap
~testic producers) to help local firms to compete against foreign
imports. Subsidies lower the costs of production for home firms, thereby helping to
protect local jobs (see Chapter 15). For example, the European Union subsidises its
farmers to encourage agricultural output {see Figure 26.3).
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Figure 26.3 The impact of subsidies

dministrative barriers — Countries often use bureaucratic rules and regulations
a form of prorection. Examples include strict rules regarding food safety,
environmental standards and product quality. Complying with these rules and
onsumes a lot of time, and increases the costs for overseas firms.
An embargo is a ban on trade with a certain country, often due to a
L An embargo rarely benefirs local consumers, who suffer from a lack
of choice and higher prices (due to the lack of supply). For example, Malaysia has
imposed trade embargoes on the Philippines while the USA has trade embargoes
with Cuba.












Conspicuous consumption occurs when people
purchase highly expensive goads and services
due to sratus or a desired image.

Consumer prices index (CP1} is a weighted index
of consumer prices in the cconomy over time.
It is used to measure the cost of living for an
average household.

Consumer spending reers to cthe smount of
household expenditure per time period.

Consumption is the value of all private household
consumption within a country.

Demerger occurs when two previously merged
firms decide to break up and become two
separate firms.

Demerit goods are goods or services which when
consumed cause negative spillover cffects
in an economy, e.g. cigaretes, alcohol and
gambling, Denteric gaods are over-consumed
due 0 imperfect consamer information abour
such goads.

Demographics s the study of population
distribuzion and trends.
D ratio is a ¢ of the number

Co-operatives arc business st up,
owned and run by their members, who may
be employees and for customers.

Cost-push inflation is a cause of inflation,
triggered by higher costs of production, which
force up prices.

Costs are the payments made by firms during
the production process, e.g. the cost of
land, labour, capital and enterprise.

Current account is a component of the balance of
pavments that records all exports and imports
of goods and services between a country and
the rest of the world,

Current account deficit occurs when a countnys
financial outflows are greater than is financial
inflows.

Current account surplus cxists if 2 country’s
financial inflows are greacer than its financial
ourflows.

Death rate measures chie nuinber of deaths per
thousand of the population in a year.

Deflation is the suscained fall in the general price
level in an economy over time, i.c. the inflation
race is negative,

Demand refers to che willingness a4 the ability of
customers to pay a given price to buy a good
or service. The higher the price of a product,
the lower its demand tends to be

Demand for fabour is the number of workers firms
are willing and able to emplay at a given wage
rate.

Demand-pull inflation is a cause of inflation,
wriggered by higher levels of aggregate demand
in the economy, which drive up the general
price level.

of people who are not in the labour force
with the number of people in active paid
employment.
Depreciation of a currency oecurs when there is
a fall in ts value relative o another currency
operating in a floating exchange rate sysee.
Deregulation is a supply-side policy of making
markets more competitive by remaving barriers
to entry and other market imperfections.
Derived demand means that the demand for
factors of production occurs not for their own
sake but for the goods and services that they
are used 1o produce.

Devaluation occurs when the price of 4 currency
ing i hange rate system is
and deliberarely Jowered.

Direct taxes are goverament chiarges imposed on
income and wealth, such as income tax and
inherizance rax.

Diseconomies of scale occur when average costs
of production start to increase as the size of a
firm increases.

Disinflation occurs when the rate of inflation falls,
buc is above zero, i.¢. prices are generally still
cising, only ac a slower race.

Disposable income refers to the camings of an
individual after income tax and other charges
have been deducred.

Dissaving oceurs when people spend their savings.

Diversification is when a merger or takeover
occurs berween firms from different sectors
of industry that operate in unrelated areas of
business.



Glossary

Division of labour is the specialisation of labour
by getting workers to focus on one aspect of
the production process.

Dumping is the act of selling exports ar artificially
low prices, below those charged by domestic
firms, and often less than the costs of
production.

Economic agents are households (private
individuals in sociery), firms that operate
in the private secror of an economy and the
government {the public sector of an economy}.

Economic goods are those which are limited in
supply.

Economic growth is the increase in the level of
narional output, i.e. the annual percentage
change in GDT.

Economic system describes the way in which an
economy s organised and run, including how
10 best allocare sociery’s scarce resources.

Economies of scale occur when average costs of
production fall as the size of a firm increases.

Embargo is a type of protection by placing a
ban on the trade of a cerrain good or with a
particular country.

Employer refers to a person or a firm that hires
other workers to an organisation.

Employment refers to the use of factors of
production in the economy, such as labour.

Equilibrium occurs when the quantity demanded
for a product is equal ro the quantity supplied
of the product, i.e. there are no shortages or
surpluses.

Equilibrium wage rate is determined when the
wage rate workers are willing to work for equals
the wage rate that firms are prepared to pay.

Excess demand occurs when the demand for a
product exceeds the supply of the product
at certain price levels. This happens when
the price is set below the equilibrium price,
resulting in shortages.

Excess supply occurs when the supply of a
product exceeds the demand at certain price
levels. This results in a surplus because
the price is t00 high, i.e. above the market
equilibrium price.

Exchange rate refers to the price of one currency
measured in rerms of other currencies.

Exports are goods and services sold to overseas
buyers.

External benefits are the positive side effects of
production or consumption incurred by third
parties for which no money is paid by the
beneficiary.

External costs are the negative side effects of
production or consumption incurred by third
parties for which no compensation is paid.

External economies of scale are economies of
scale that arise from facrors outside of the
firm, for example, the location of the firm,
proximity to transport, availability of skilled
workers.

Externalities (or spillover effects) occur where the
actions of firms and individuals have either a
positive or negative effect on third parties.

Fertility rate measures the average number of
births per woman. It is used as a component
o measure population growth.

Financial economies of scale occur as large firms are
able to borraw money from banks more easily
than small firms because they are perceived to be
less risky to the financial institutions.

Fiscal policy is the use of raxes and government
spending to affect macroeconomic objectives
such as economic growth and employment.

Fixed exchange rate system exists when the
central bank (or monetary authority) buys and
sells foreign currencies w ensure the value of
its currency stays at the pegged value.

Floating exchange rate system means that the
currency is allowed to fluctuate against other
currencies according to the market forces
without any government intervention.

Foreign aid s a form of financial assistance for
economic development from orher countries or
non-government organisations such as Oxfam
and Unicef.

Foreign exchange market is the markerplace
where foreign currencies can be bought
and sold.

Forward vertical integration occurs when a firm
from the primary sector of industry merges
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with a tirm from the secondary secror of
industry or a firm from the secondary sector of
industry merges with a firm from the tertiary
sector of industry.

Free goods are goods which are unlimited in
supply, such as air or seawater.

Free riders are people who take advantage of the
goods or services provided by the government
but have nor contribured to government
revenue through taxaion.

Free trade refers to internarional trade withour any
protectionist barriers between countries.

Functions of money describe the role that money
plays in the economy: money is a medium of
exchange, a store of value and a measure of
value {or unit of account).

Fundamental economic questions are the key
questions that all economic systems strive to
answer: whar, how and for whom production
should take place.

GDP per head {or GDP per capita) measures the
gross domestic product of a country divided
by the population size. Ir is a key measure of a
country’s standards of living.

Geographical mobility occurs when a person is
prepared to relocate to another area for a job.

Go-slow occurs when workers decide to complete
their work leisurely and therefore productivity
falls.

Goods are physical items such as tables, cars,
roothpaste and pencils.

Government expenditure is the total value of a
government’s consumption and investment
spending and transfer payments, such as
unemployment benefits and state pension
schemes.

Grass domestic product (GDP) measures the
monerary value of goods and services produced
within a country for a given period of time,
usually one year.

Horizontal integration occurs when two firms in
the same secror of industry and same industry
merge together.

Human Development Index (HDI) is the UN’s
measure of wellbeing which uses three criteria:
life expectancy, educational attainment and
income per capita.

Hyperinflation refers to very high rates of inflation
that are our of control, causing average prices
in the economy o rise very rapidly.

Imported inflation is a cause of inflation triggered
by higher import prices, forcing up costs
of production and thus causing domestic
inflarion.

Tmports are foreign goods and services bought by
domestic households and firms.

Income is the toral amount of earnings an
individual receives in a period of time. It may
consist of wages, interest, dividends, profits
and rental income.

Indirect taxes are raxes imposed on expenditure,
iLe. sales taxes such as value added tax (VAT).

Industrial action is any deliberate act ro disrupt
the operations of a firm in order to force the
management to negotiate betrer terms and
conditions of employment, e.g. strike action.

Inflation is the sustained rise in the general level
Of prices of goods and services over time, as
measured by a consumer price index.

Tnnovation is the commercialisation of new ideas
and products. Tt is a vital source of productivity.

Interdependence means that the three secrors of
industry are dependent upon each other and
cannot operate independently o produce
goods and services.

Internal economies of scale are economies of scale
that arise from the internal organisation of the
business, for example, financial, bulk-buying
and technological economies of scale.

International specialisation occurs when certain
countries concentrate on the production of
cerrain goods or services due ro cost advanages,
pethaps due to their abundant resources.

International trade refers o the exchange of
goods and services beyond national borders.

Investment expenditure is the sum of capital
spending by all businesses within a country.

Investments are goods that are purchased not to
be consumed but to create wealth.

Invisible exparts refer ro the earnings from selling
services to foreign cusromers.

Invisible imports refer to the spending on services
provided by firms in overseas countries.



Invisible trade balance is a record of the trade in
services, such as transportation and financial
services.

Labour force parti rate is the

Merger occurs when two firms join together to
make one firm.

Merit poods are goods or services which when

create positive spillover cffects in

of the working-age population that is working.

Labour-intensive production occurs when labour
costs accaunt for proportionately more of a
fiem's costs than any other cost of production.

Labour supply cansists of peaple who are of
working age and are willing and able to work
at prevailing wage rates.

Less economically developed countries {LEDCs)
are developing countrics, with low GDI per
capita, so standatds of living are generally poor.

Life expectancy measutes the number of years an
average person in the country is expected
10 live.

Limited company is a company owned by
shareholders who have limited liability.

Limited fiabiliry mcans that in the event of a
company going bankrupt, the owners would
not lose more than the amount they invested
in the company.

Managerial economies of scale occur as large
firms have the resources to employ specialists
o undertake functions within the firm, e.g.
Accounrants, engineers, hwman resources
specialists.

Managers are responsible for controlling ail or part
of a company.

Market economy 18 4 type of econonmic system
that relies on the market forces of demand
and supply o allocate resources with minimal
goverament inteevention.

Market faiture occurs when the market forces of
demand and supply fail to allocate resources
efficiently and cause esternal costs or external
Dbenefirs.

Market structure refers to the key characteristics
of a particular market, such as the number and
size of firms in the market, the degree and
intensity of price and non-price comperition,
and the nature of barriers to cntry.

Marketing economies of scale occur as big firms
tend o have a large advertising budger and
therefore can spend large amounts of money’
1 promoting their products.

an economy, e.g, educarion, training and
healch care. Merir goods are under-consumed
S0 government intervention is often needed.

Mixed economy is a type of economic system that
combines elements of both the planned and
market economic systems, with some resources
being owned and controlled by private
individuals and firms whilss others are owned
and controlled by che government.

Monetary policy refers o the use of interest
rates, exchange rates and cthe money supply to
control macroeconomic objectives and to affect
the level of econontic activity.

Money is anything chat is widely accepted as a
means of exchange {and aces as a measure and
store of value).

Money supply refers to the amount of money in
the economy at a particular point in time.
Monopoly is a market structure where there is only
one supplier of a good or service, with the

power to affect market supply or prices.

More economically developed countries
(MEDCs) are developed couneries, with high
GDP per capica, so standards of living are
generally goad.

Morrgage is a secured loan for the purchase of
properry.

are busi that
operate in z“o or more coungries. Examples
inctude Apple, BMW, HSBC, Marks &
Spencer, Nike and Sony.

National minimum wage is the lowest amount
a firm can pay its workers and is set by the
government.

Nationalisation is the process of taking assets into
state ownership. A nationalised organisation is
also known as a public-sector organisation.

Needs are goods thar are essential for survival.

Net exports refers to the monerary value of the
difference between a nation’s cxport carnings
and its import expendiure.
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Net income flows are a record of a country’s net
income earned from capital flows.

Net migration rate measures the difference
berween immigration and emigration rates
for a country, and thus indicates the physical
movement of people in and out of a country.

Occupational mobility is when a person can easily
move from one type of job to another.

Opportunity cost is the cost of the next best
opportunity foregone when making a
decision.

Optimum population exists when the output of
ods and services per head of the population
is maximised.

Overspecialisa occurs when an i N
firm, region or country concentrates oo much
on producing a very limited number of goods
and services. This exposes the economic agent
10 a far higher degree of risk.

Owners have a legal right to the possession of
something.

Partnerships are businesses owned by berween
rwo and twenty owners, who pool funds and
rake risks rogether, but have ro share profits
between themselves.

Perfect competition describes a market where
there is immense competition due to the
absence of barriers to entry. This means there
are many small firms competing in the market,
none of which have any power o influence
market supply or price.

Planned economy is a type of economic system
that relies on rhe government allocating
scarce resources. It is often associated with
a communist political system that strives for
social equality. Also referred ro as the socialist
or command system.

Population refers ro the total number of
inhabitants of a particular country.

Population growth refers ro the rate of change in
the size of a country’s population.

Population pyramids are a graphical
representation of the age and gender
distribution of a country’s population.

Poverty is a condition that exists when people lack
adequare income and wealth to sustain a basic
standard of living.

Price is the amount of money expected or given in
payment for something.

Price discrimination is the practice of charging
different prices to different customers for
essentially the same product. It occurs because
of the customers® differences in PED.

Price elastic demand describes demand for a
product that is responsive to changes in price,
usually due o substitutes being available.

Price elasticity of demand (PED) measures the
extent to which demand for a product changes
due to a change in its price.

Price elasticity of supply (PES) measures the
degree of responsiveness of quantiry supplied
of a product following a change in its price.

Price inelastic demand describes demand for a
product thar is unresponsive to changes in
price, mainly because of the kick of substitutes
for the product.

Price maker (or setter) describes a firm with
significant market power so it can control
enough of the market supply in order to affect
the price level.

Price stability means that inflation is under control
50 that price movements are predictable.

Price takers are firms that set their price according
to the market forces of demand and supply,
rather than determining their own prices.

Private benefits are the benefits of production and
consumption enjoved by a firm, individual or
government.

Private costs of production and consumprion are the
actual costs of a firm, individual or government
such as wages and raw marerial costs.

Private limited company has limited liability and
can sell shares o raise finance bur not to the
general public.

Privatisation is a supply-side policy of selling off
state-owned assets to the private sector.

Producer refers to any firm that deals in the
production and /or provision of goods and
services.

Production refers ro the total output of goods and
services in the production process.

Production possibility curve (PPC) represents
the maximum amount of goods and services



which can be produced in an cconomy, ie. the
productive capacity of the cconomy.

Productiviey is 2 measure of cfficiency arrived ar
by calcutating the amount of outpus per unit
of a factor inpuc (such s output per worker or
output per machine hour).

Protit is the posicive oumvrical ditference berween
revenues and costs, T is the reward tor risk-
raking in business,

Progressive taxation is 1 tax system that deducts a
greater proportion of tax as a person’s income
level increases, ¢.g. income tax and capital
gains tax.

Proportional taxation is a tax system thac deducts
the same proporeion of tax at all income levels.

Protection is the use of trade barriers to safeguard
acountry from excessive international trade
and foteign competition,

Public limited company is a firm thar can sell its
shares on a stock exchange, e.g. Microsoft,
HSBC and Samsung,

Public corporations (public sector organisations)
are organisations that are wholly owned and
funded by a government, such as the postal
office.

Purchasing or bulk buying economies of scale
occur when the cost of raw materials falls when
boughe in large quantities thus reducing the
average costs.

Quota is a type of prorection that sets a numerical
limic on the number of imporcs allowed inw a
coutery over a specified time period.

Real GDP refers o the value of national income
(GDP} adjuseed for inflation to reflect the
true value of goads and services produced in a
given year.

Recession vecurs in the business cycle when there
is a fall in GDP for two consecutive quarters.

Regional specialisation occurs when certain areas
concentrate on the production of certain gaods
or services, . Hollywood, in Los Angeles, is
famous for its motion pictures industry.

Regressive taxation js a tax system that deducts a
smaller proportion of tax as a perso’s income
increases, e.g. sales taxes and stamp duties.

Regulation refers o the rules and [aws that
govern business behaviour in the cconomy,
e.g. employment laws, consumer protection
legislacion and environmental protection
faws.

Relative povercy is a comparative measure of
poserey. Those in relacive poveres have # lower
standard of living in comparison with the
average member of sociery.

Replacement fertility rate is the number of
children thar the average woman must have
1o replace che existing, population in order o
maingain a stable population size

Research and development ccononmies of scale
occur as large firms may be able to fund
research and development and therefore can
be innovative and creare products that cnable
them to be leaders in their arca of business,

Retail prices index (RP1) is used to calculate
the rate of inflation. Unlike the CPI, the
RIT includes the cost of housing, including
mortgage interest payments and other housing
costs bur excludes low-income pensioners and
high-income houscholds.

Revaluation occurs when the price of a currency
operating in a fixed exchange rate system is
officially and deliberarely increased.

Risk-bearing: cconomies of scalc oceur as large
firms tend o produce a range of products and
operate in many lacarions.

Salary is a fixed monthly paymest in return for
labour services.

Sales revenue refrs o the money a firm earns from
its sales, before deducting costs of production.

Saving occurs when a persan puts aside some of
their current incorae for fucnre spending.

Savings ratio refers o the proportion of household
income which is saved instead of consumed in
an cconomy,

Services are non-physical ieems such as haircues, bus
journeys, telephone calls and internet access.

Shareholders are the part-owners of a limited
liability company.

Sit-in is when union members go to their place
of work, occupy the premises but do not
undertake their normal work.
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Social benefits are the true {or full) benefits of
consumprion or production, i.e. the sum of
private benefits and external benefits.

Sacial costs are the true {or full) costs of
consumption or production, i.e. the sum of
private costs and external costs.

Sale trader is a person who owns and runs a
business as single propriecor. S/he takes all the
risks bur keeps any profit made by the business.

Specialisation occurs when individuals, firms,
regions or countries concentrate on the
production of a parricular good or service.

Specialisation of labour occurs when a
worker becomes an expert in a particular
profession or in a part of a production process.

Stakeholders are any economic agents with a
vested interest in the operations of a business,
eg. p and

Standards of living refer o the social and
economic wellbeing of individuals in a country
ata point in time.

Stock exchange is the rerm used to describe an
institutional marketplace for trading the shares
of public limired companies.

Stocks (or invenrories) are the raw materials,
components and finished goods (ready for sale)
used in the production process.

Strike occurs when union members withdraw their
labour services by refusing to work.

Subsidies are a form of financial support from
the government o lower the production
costs of domestic firms, thereby raising their
competitiveness.

Subsidy is a sum of money given by the government
to a producer o reduce the costs of production
or ro a consumer ro reduce the price of
consumprion.

Substitutes are products thar are in competitive
demand as they can be used in place of
each other. For example, rea and coffee or
McDonald’s and Burger King meals are
substiture products.

Supply is the willingness an the ability of firms t
provide a good or service at given prices. The
higher the price of a product, the higher its
supply tends to be.

Supply-side policies are the long-term strategies
aimed at increasing the productive capacity of
the economy by improving the quality and for
quantity of facrors of production.

Takeover occurs when a firm is taken over by
another firm. A takeover may be hostile or the
two firms may have agreed 1o the rakeover.

Tariffs are import taxes that are imposed on
foreign goods.

Tax avoi is the legal acr of
payment of taxes, such as by avoiding spending
on items with a large sales tax.

Tax burden is the amount of rax that households
and firms have o pay.

Tax evasion is the illegal act of not paying the
correct amount of rax, perhaps due ro a firm
under-declaring its profits.

Taxes are government levies on income and
expenditure, used to fund government
expenditure ro affect economic activir:

Technical economies of scale occur as large firms
can afford to purchase expensive pieces of
machinery and auromated equipment for the
manufacruring process.

Trade protection is the use of trade barriers
o safeguard a councry against excessive
international trade and foreign competition.

Trade union is an organisation which aims ro
protect the interests of its members, namely the
terms of pay and conditions of employment.

Transfers are money flows from one country ro
another, e.g. income sent by a foreign worker
to their home country, or a gift of money from
one government ro another.

Unemployment occurs when people of working
age who are both willing and able to work
cannor find employment.

Unemployment rate is a measure of the percentage
of a country’s workforce that is out of
employment.

Unitary price elasticity occurs when the
percentage change in the quantity demanded
{or supplied) is proporrional ro the change in
the price, so there is no change in the sales
revenue.
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Unlimited liability means that if a business goes
bankeupt, the owner(s) is/are personally
liable for the debts, even if it means personal
belongings have to be sold.

‘Vertical integration occurs when a takeover or
merger rakes place between two firms from a
different sector of industr:

Visible exports are goods which are sold to forcign
customers.

Visible imports are goods bought by domestic
customers from foreign sellers.

Visible trade balance is a record of the export and
import of physical goods.

Wage-price spiral occurs when trade unions
negotiate higher wages to keep income in line
with inflation burt this simply causes more
inflation as firms raise prices to maintain their
profit margins.

Wage is the rerurn for labour services, paid hourly
or weekly. Payment depends on the amount of
time worked.

‘Wants are goods and services that are not necessary
for survival but are demanded by economic
agents.

‘Wealth is measured by the value of assets a person
owns minus their liabilities (the amount they
owe 1o others).

‘Work-to-rule means that workers literally work to
fulfil the minimum requirements of their job
and do nothing outside what is written in their
contract of employment.

Working population {or labour force} is the
number of people in an economy who are of
working age and are willing and able to work.
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